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In den Hauptkapiteln 3 und 4 der vorliegenden Arbeit werden vornehmlich Ergeb-
nisse dargestellt, über die, wenigstens in ihren Grundzügen, durch die oben genannten 
Veröffentlichungen (Kapitel 3 in [27] und Kapitel 4 in [28]) bereits Mitteilung gemacht 
wurde. Keinen Niederschlag dabei fanden jedoch jene Teile der genannten Arbeiten, zu 
denen ein direkter Beitrag meinerseits nicht vorliegt; so ist insbesondere Section V in 
[28] meinen geschätzten Kollegen, den Drs. Zazunov et Kundu zuzurechnen und nicht 
meiner Feder, ähnlich wie die Berechnung der Energiedispersion für die Randzustände 
(siehe Fig. 3 in [27]) nicht von mir stammt, sondern von Dr. de Martino. 

Hingegen erfuhr die Darstellung jener Passagen, an denen ich durch Aufstellung des 
Modells und dessen mathematische Ausrechnung meinen wenn auch bescheidenen 
Beitrag beizusteuern in der Lage war, noch eine gewisse Erweiterung: Es handelt sich 
dabei einerseits um Einzelheiten, die, obgleich sie zum Zeitpunkt der Veröffentlichung 
bereits vorlagen [Abschnitt 3.6.2 oder Beispiel 1) in 4.2 bzw. 4.3], dort aus Platzgründen 
keine Berücksichtigung mehr finden konnten; andererseits wurden hingegen die 
Abschnitte 3.3.2 in Verbindung mit 3.4.1 und 3.4.2 sowie 3.7 in Kapitel 3, desweiteren in 
Kapitel 4 der Abschnitt 4.6 und der größte Teil (zweites und letztes Drittel) von 4.7 neu 
erstellt. 
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1���� E±
(−→
k
)
= ±t ·

√
3 + f

(−→
k
)
− t′ · f

(−→
k
)
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1���� f
(−→
k
)
= 2 cos

(√
3kya

)
+ 4 cos

(
1

2

√
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)
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3

2
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h11 h12

h21 h22
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$�����������
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h12 = h∗
21 = −

3∑
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(
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−→
k
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2
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)
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(√
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2
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k
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a

2
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√
3
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√
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"# $(% |−→q | �
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"# $,% E± (−→q ) = 3t′ ± �vF · |−→q | − 3

8

(
6t′ ± t · sin

(
3θ−→q
))

a2 · |−→q |2
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"# $.% θ−→q = arctan
qy
qx
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3ta
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300
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������� !����� &�� �� /�� ��	�������
	�/��	������ 3��	����� ���������&���� ��� 3��	���� E (−→p ) = c · |−→p | ��� ���4�5�
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 ��� ���� ��� 6������	���������&��������	 ��	��������� )*'+7- ���	���� ����
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(�����0�������� �����������' (�� "��������� ��
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������� �������
���� ��%
���� ��� (����
������ 
����
�
����� t 
�� t′ ������%)����� !����� ��������	
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�� ������� ����
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=
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�� *+#3+- ��������� �����%)��� 
� ��� ?�
�����
�
� 0�������"
�����
���� �������
�����# '� >�����
�� �
� ����� )������� ?��
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���	
���������
*�������� δt′j ���� ����� �� ��
��� ����� ��� ��� !����������� - 
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9����	����� ���� ����:.6��	�$� ,����� �	 ��	 ;��	��������� ��	 	����� 0�������
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K′

=

⎛⎜⎜⎝
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HSOAS;Bz
= σx (kx +Bz · (y0i − y)−A0)− iσy∂y + ...���@E�

+V0 + bBz · sz +Δ · σzsz +
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��� ������ τ 	 
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������ ��� ���� ���� ��� ��� 
������ ���� �� ��	��� ����������

��	���
λ

2
· (−→σ ×−→s )z =

λ

2
· (σxsy − σysx) = λ ·

⎛⎜⎜⎝
0 0 0 0
0 0 +i 0
0 −i 0 0
0 0 0 0
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�� ���� ����� � ���
���� ������� 
!���� ���� "�� #�$��� �� � � ��� %����� ��	���

����
��� ������ ����
��� &���������� � ��� λ ���'����
� $������ ����� (����� ���
"����� ! )����	 *�� ����
����� +�������"���������
� ��� ��	��� ���'������ �����,
��� � � &���������� �
������ %����� ����� ��	�-�	 %���� ����"� ����� ���� ��� ��
��� #"��������� .	�  �� .	� � �����
��� "���������� %��� �'
��� �� K,/ �'�
�

��� �$������ ��� 0 ��!���� #�  �� 1� �����2���� ���
"�������!��
��� �� "�����
3���� �����  �� ������ ��� 4���������� ��� ���� ������� � � ������  �� /�� ,
������ � ������������ ����
��� "
��"�	 # �� ���� ��� ������ ��� 4� ��� ����� "
�)
�� ���� �����
�� #��
���� ��� /�� ��,%��� ��� 5����������� � ��������� �������
��� ����"�� ���� � � �� ���� ��6��'�
����� 3��
��!� � � "�

����� $����
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�� ���� 7��������� $�� "������ �"�� ��
! ����� ���� ������ ��$��
������ 
������������ � � ������"�� ����	

8� 
��'
��� ����� ������ ����� $�� ��� ����'�� 3���� �� "���!����� ����� ���
�� 
������ ���� � � ��	.� τz = −1 ������ ���� ��� 5�'
����� ��� %���� �� ��,
����� K,/ �'� 
����
��� �$������ ��� � ���  �"����
����� 0 ��!���� #�  �� 1�
�"� ����
�� ������� �� �� K ′ ��� ������ �����
  ���'������ 0������
� � �$�� ���
0 ���� �� ��� %�������� ���� ����� ���� � ���'�� ���� ����� (����� ��� 0 ���� ��
��� #���� ��
"�� � ����� 5�����������	

%���� ��� �� ��	��� Bz = +B > 0  �� "������ ���� ��� #"'��� ��

��	�9� K := kx +B · y0i −A0

�B "��������� ��� � � �" ����� ��� 1����� ��� :�
���  ��"�!���� ��� ������
����!��
����� /�
 ���� �� ������"� ���� ��� 4� ���
���� �� ��	��� ��� � � ��� � �
��� x ����� ���� �"�!������ %����� ��	��� $��'�� ��
��������)��;
��	�-�⎛⎜⎜⎝

V0 − E +Δ+ bB K −B · y − ∂y 0 0
K −B · y + ∂y V0 − E −Δ+ bB +iλ 0

0 −iλ V0 − E −Δ− bB K −B · y − ∂y
0 0 K −B · y + ∂y V0 − E +Δ− bB

⎞⎟⎟⎠
⎛⎜⎜⎝

ΨA↑ (y)
ΨB↑ (y)
ΨA↓ (y)
ΨB↓ (y)

⎞⎟⎟⎠ = 0

* ��� � 
���
�'����� ��� ��� :�'��� −1/
√
2B ��$�� ��� % "���� ����

��	�<� η :=
√
2B ·

(
y − K

B

)
������� ∂y =

√
2B · ∂η ���� ������"� ���� ���� '����'� �
�

��	.=�

⎛⎜⎜⎝
ν̃↑− 1

2η + ∂η 0 0
1
2η − ∂η ν̃↑+ −iΛ 0

0 +iΛ ν̃↓+ 1
2η + ∂η

0 0 1
2η − ∂η ν̃↓−

⎞⎟⎟⎠
⎛⎜⎜⎝

ΨA↑ (η)
ΨB↑ (η)
ΨA↓ (η)
ΨB↓ (η)

⎞⎟⎟⎠ = 0 	



�� �� �����	
������� ��
����� ������ ���

������� ����� 	
� �

������ ����������� �������� �������� Λ := λ√
2B

�
���

ν̃↑± :=
E − V0 − bB ±Δ√

2B
����� 

ν̃↓± :=
E − V0 + bB ±Δ√

2B
����� 

!���� "�������� ��� ������ �� ��� ������ ��� ���

� ��� 
������ �� ��� 	
�
�����
�
������� ������ #$����� �

���(

∂2
η − 1

4
η2 + ν↑ +

1

2

)
ΨB↑ (η) = +iΛν̃↑−ΨA↓ (η)����� (

∂2
η − 1

4
η2 + ν↓ −

1

2

)
ΨA↓ (η) = −iΛν̃↓−ΨB↑ (η)����% 

!���� ����� ν̃↑+ ·ν̃↑− ≡ (E−V0−bB)2−Δ2

2B =: ν↑ ��� ν̃↓+ ·ν̃↓− ≡ (E−V0+bB)2−Δ2

2B =: ν↓
���������������� &�������� ��� �
�
 ��� !�'�������
�
������� 	������ (������

����) 

(
∂2
η − 1

4
η2 + ν↓ −

1

2

)(
∂2
η − 1

4
η2 + ν↑ +

1

2

)
ΨB↑ (η) = Λ2ν̃↑−ν̃↓− ·ΨB↑ (η)

�� 
*���� +������
��� ���� ������ ���� ,��- ��� ������������ �
������� ������� (��.
����

(
∂2
η − 1

4η
2 + p+ 1

2

)
Φ (η) = 0 ����� ��� 	��� /����

������ 0$
�����������
���

Φ (η) = Dp (η)1 Dp (−η)1 D−(p+1) (iη)1 D−(p+1) (−iη) ��
*��1 	
� ����� 2��
�� ���
���� 	
��������� 
����� �����3���� �����

4�
��� ������
 ��� ���� ����� ���'�1 �� ����) �� �����������1 ���� ���
&���5 p ��� �
�������

����6 (ν↑ − p) (ν↓ − p− 1) = Λ2ν̃↑−ν̃↓−

����

��� !� ��7����� ���� �
�� Dn (−η) = (−1)
n · Dn (η) ��� n ∈ N0 ���1 ���

8��
����� ��� ��� ������ 9�����
��� ��� ��� ������3��� ���������� ��
�1 ������
���� ��� ���3��� ΨB↑ (η) = ν̃↑− ·Dp (η) ��� ΨB↑ (η) = ν̃↑− ·D−(p+1) (−iη) ���3�
�1
��� ��� ��
���� �
� :*���� ��� �
������� ����; �� ��� "������
�����

Ψ
(reell)
SOAS+B (η) =

⎛⎜⎜⎜⎝
−p ·Dp−1 (η)
ν̃↑− ·Dp (η)

−i(ν↑−p)
Λ ·Dp (η)

i(ν↑−p)
Λν̃↓−

·Dp+1 (η)

⎞⎟⎟⎟⎠����< 

Ψ
(imag)
SOAS+B (η) =

⎛⎜⎜⎜⎝
−i ·D−p (−iη)

ν̃↑− ·D−(p+1) (−iη)
−i(ν↑−p)

Λ ·D−(p+1) (−iη)
(ν↑−p)(p+1)

Λν̃↓−
·D−(p+2) (−iη)

⎞⎟⎟⎟⎠ �����= 

!� ��� &���5 p �
� :*���� ��� >������������ �
������� ����6 2��
�� 2����
� ������
4����

����? p = p± :=
1

2
(ν↑ + ν↓ − 1)±

√
1

4
(ν↑ − ν↓ + 1)

2
+ Λ2ν̃↑−ν̃↓−

�3��� ���1 ���� ���1 ��� �� ��� ����� �
������� 	������ (������ 2� ��� 9�

 ���� ����1
���� ��������� 	��� :*������� #������� ��� ����� �� 9
�� ����� @����51 ��� �/3���



���� ��������	 
�	����
 ��� �	���
��� ���	���� ��� �������� ��

�������� ��	
� �
�� �� ��
��� ��� ��������
������

ΩSOAS+B (y) =
(

Ψ
(reell)p+

SOAS+B (η) Ψ
(reell)p−

SOAS+B (η) Ψ
(imag)p+

SOAS+B (η) Ψ
(imag)p−

SOAS+B (η)
)
�

����� ���� 
�� �	�
���� ���� ������ �	�����	���	��

��	 
�� ���� ����	 �����
���
� ��	 
�� !��������
��� ���� Bz = −B < 0�
������ 
�� ����"	�����
�� #��
����

Ψ
(reell)
SOAS−B (η) =

⎛⎜⎜⎜⎝
i(ν↑−p)
Λν̃↓−

·Dp+1 (η)
i(ν↑−p)

Λ ·Dp (η)
ν̃↑− ·Dp (η)
p ·Dp−1 (η)

⎞⎟⎟⎟⎠������

Ψ
(imag)
SOAS−B (η) =

⎛⎜⎜⎜⎝
− (ν↑−p)(p+1)

Λν̃↓−
·D−(p+2) (iη)

i(ν↑−p)
Λ ·D−(p+1) (iη)
ν̃↑− ·D−(p+1) (iη)

−i ·D−p (iη)

⎞⎟⎟⎟⎠����$�

����	� �
� 
�� ���������� ����$� 
�
 ������� %�� �	����� ���� ����	���� �
�� �
�

�	 
�	� ��� �����
��� &��'�������� 
�'
 
�
 �����	� &	�(
��	
���� )�
�� ����
�� ������� �
� �������������	 *������� ��� ����� 
�	 �
�����������
�� +�����
������ 
�
 ���  ��� ���� �
����	 
�	 "�,�� �������� -�
�
�� '
���
��� .�������
���� 
���� ��� ����	 .��	����
�� 
�� ��������� .�	�������

���� ��������	 
�	���
� ��� �	������� ���	���� ��� ��������

/� 
�� 0�	������
 �	�������� &	��������� 
�� '
�(���� ���	 	���������������	
�	� '
 ���� ��������� ���	�������� ����	 "�,�� �������� �
�
�
�
�� '
'
���	��� ��	1

� �� 
����� ��������� ��� ��������	 .�	���� ���	������� �� 
����� ��	��� ��
/���
������ ������
�� +	��'�� 
�� 2������
� ������ ���$3� �
�	 ���$4� '
 0�	1
������
�� ������ ��	 
�� �� ���$3� ����������� 5,���
�	�
� ������ Dp (η) 6 �����

�	 -�)������ ������ ���� ��� y �
�� η 
→ ±∞ 6 ��� 
��� �
	 
��� 
�	 ����� ���� ��	
7�
�8 p ∈ N0� ���� ���� ����	����� 5��� ���������9���� :
�� ���� -�� �
� ������ ���
������(	�� �	�
���� D−(p+1) (−iη) �� ���$4� ����� '��	 ��	 p ∈ N ��������� �����
:
��� ;�
��� ����� ������� ���
�� 
� <
�
	�������	���� 
�
 
���� ��	���	��	 '

����� %���� ������ ���'��	� 0�	��	��� ��	
��� 
�
 �� 0�	������� ��	 
�� 
���
����
�
���
������ ��������� .�	���� ��
������ 
�� �
� ������ ���$3� ��� p = �� $� �� � � �
� 2���� ��	�� ��	 n ∈ N0 �������� 5
������������ ��� 
�� *�	����1=��,�����
Hn 	�

'��	�� ���� 
�� ����������� 5,���
�	�
� ������

������ Dn (η) =
1√
2n

· exp
(
−1

4
η2
)
·Hn

(
1√
2
η

)
'
 
�� 0�� 
�	 #��
�� 
�� ��	��������� >�'������	� ��	 �� ������ �
�
	�� ��� 
�


�� �
� ������ ���$3� ������ ���� 

	�� ?�	��������� ����� �� ��	� Np ��	���	���
-����	 ��	������ ���� ���	

����@�

+∞ˆ

−∞
Dn (η) ·Dm (η) · dη =

√
2π · n! · δnm



�� �� ����	
�������
 �������� �����
 ���

��� n,m ∈ N0 ��

����	
 Np =

{
√
2π ·
[
p+ ν̃2↑− +

(
ν↑ − p

Λ

)2

·
(
1 +

p+ 1

ν̃2↓−

)]
· p!
}−1/2

�

��
��� ��� �� ������� � ������ ��������� �����
 �� ��������� ���
 ��� ���� 
��
��������� 
�� ��
� !�� 
�� "������# ���� 
�� �$�� �! "�������� �� ���������
���� %��
# �! �����!����� 
������� &$!���������� ��� �! 
$�� ������������ '�����
(������� !�� �)!���� 
�� ��������� �����
# 
�� 
�� ��
� p �� �������� ���# ��� 
��
�������������� ��*+�� �!# ��
�! !�� 
�� 
���� ,$����$!!�� ��&�������� ����$
����-
 ��%�
 %��
�� �������# �$ ���)�� !�� 
�� ����
�����
� ���������
�����
[
(E − V0 − bB)

2 −Δ2 − 2pB
]
·
[
(E − V0 + bB)

2 −Δ2 − 2 (p+ 1)B
]
= λ2·

[
(E − V0 −Δ)

2 − (bB)
2
]
#


�� 
�� ���)����&��� 
�� "������ ,$! .��������
� ��
 
�� ��
���� ���� ,$�&$!/
!��
�� ��*+�� �������

"� ��� ���� ��� ����� 0������ �� 
�� (����%���� ���!��&��! ��!����1 �! ,$/
����� ��������� %��
�� 2�
�� "������ E ���� 
�� 3��
�������� ��������� ����4

5
��������� �� ����� ��� b = 0 ��� ���-6
 �! ������7 �%�� ,�������
���# �! �����/
!����� �����/����������� 0���� p ����$�
���# 
��# �� 
�� ���
�� '��&��$��� ����8

��
 ����6
 9 �������� %��
� ���� ,��%$���� 9 ����������# �������!� ,��� ,�������
���
:���)�
� ��� ;������������� ���� 
����� "������ �������� <��� �������� ������� 2�
��
,$��������
� 0��� 
�� =���!����� p 9 
�� ;��
��
�������� %���� %��
� �� ���

�� ����������� :����� N ������)�&� 9 ��� >*���� 
�� ��3��
��������� ���������
�����
 �����$ ,����# �)!���� ,��� "�����������%���� E� ?� 
�� 
����� ��������� ��
����
� ������
� <�!���$�/@�����$� ���-	
 ��%� 
�� 
����� �$����
� .���� ����A


���!������ ��� 5!�� �������# 
���
(
1
2η + ∂η

)+
= 1

2η − ∂η ����7# ���
 
���� �)!�����
����� ��
 �! �����!����� ���� ,$������
�� ,�������
���

B�
$�� ��+� ��� C�������&���D 0��� 
�� ����������� =���!����# ������$�
���

���# %���# %�� �� �! '$����
�� ��������� �$��# ������ 
�������� ������ E��� ��/
����� %��
��# 
�� ������ F��� 
�� �$���� ��!������ ������� ����� ������&��� ���#
��
 �� &$!!� �� �����������
�� "����������� :���� !�� �$�� 
�� ���
�� F)���

�� ?�������$��������$� �� ��������# ���$ 
�� ���
�� =��&�� K ��
 K ′# �$ ��� 2�
�
"������ $������ �%������ ��������� ?�� =��&� K ′# 
����� (����&��� ���� ���������
��- ��!)+ 
����! ����� %����� ,���$��� %��
�# ��
 
�� ��� ����� �� ��$+�� "�������
,$! =��&� K ����������� ���&$����� ���# ������� 2� ���� ,$! >������������� ���
��%��������� ,�������
��� 0��������&��$�1 >��� ���-A
 ���
��� �� ���� ��
������ �!
���� %������������� G����������� 
�� �$!�$������ !�� �������������! G$��������/
%������ �$%��# ����� ���� ���� !���������� G��������� ,$������# ���)������ �$�� �!
���� ��!��� G����������� 
�� @������)����&���� ��� 
��� ,��)�
��� 2�
$�� %�
�� 
��
'$�! 
�� 0�������������&����
�����,��������� �$�� 
�� 0��� 
�� ��� �����*�����
"�������

0��� �������� 
����� ����������� ������ %��
�# 
��� 
�� ��
� 
�� �� ����8

�����������
�� :H���
�����&��$��� Dp (η) ��� ����������/����������� ����������+����
E���
 ���� !����# �$ ��
��� 
��� ���������� 
�� F�������# 
��� 
�� �� ;�
� ������
�
��
� 
$�� �� 0��&����&��� �� 
�������� ������� ��������# �)!���� ��� p + 1# p ��

p−1# ����� ���$�
���� ��)����� I! �)!���� 
�� '���� �� ��������
��# %������ 0���

��� ��� ����)������ ��� ���� ���
����� !*������� �� ������ ���# ����� !�� ���)����
��$��%���� p = 0 �� 
�� 0��������&��$� ����8
 ���� ���� $��� ���$�
��� '����������



���� ��������	 
�	����
 ��� �	���
��� ���	���� ��� �������� ��

�������� ��	 
�� ��
������� ����� D−1 (η) �� ���	����� ����� ���	�������� ���	��
���
 ��	 ������	 p = 0 ��
�� ��	 ��� ����	��� ��
�������� ��� �	 ����

������ Ψ0 (η) = N0 ·

⎛⎜⎜⎝
0

ν̃↑− ·D0 (η)
−iν↑
Λ ·D0 (η)

iν↑
Λν̃↓−

·D1 (η)

⎞⎟⎟⎠ �

� �!�� ��
 �� 	����
 "���� ��
�
������ #���$ p ������ ���� ���� ������� %�&
��������
�� ��	 '�� ���	��  �	������ 	���	����	�(������ ��
���

�� ��� ��	����
����	� ��� �� ��
 '��
����� '���
���		���� )� ��*������	
�
(! ν↑ = ν̃↑+ · ν̃↑− �	��
��������� ���� ��
�������� ���  �	����� ν̃↑− ��	 ����� ������� ��� 	���	����	�(��&
���� ����� +��� 	��� ���'� ��	��	��� ��� "�����'������� ������ ������	�� ���	���(����
���
�� �(		� �� 	��� ��������� 
�� ��
 ,��'����� N0� ��� ���� '�� p = 0 
�� ��� ���&

�
����� ���
�� ����-� ��������� ������ ���� ��� ���	�� ���� ����'���	 ����(���
�����	������� "�����
�� �	� .������ ��		 ��� ������ E−V0−bB−Δ 
= 0� ��� ��
��
��� )�*������ ���/0� ��� 1�
�������
 ν̃↑− 
= 0 ���	������� ��	 ��� 2���
��
�������

����3� �����	
������ ����� )��	� ������'���� 	��� ���� ��
����4�

(E − V0 − bB +Δ) ·
[
(E − V0 + bB)

2 −Δ2 − 2B
]
= λ2 · (E − V0 −Δ+ bB) �

��	� ����� 5�������
 ������� 5����	� ������ ��'���
�� ��		 ��� 6�	���� ������ ��� 
��
����
���� ���� 2���
�������� �� �����	����� �	�� ��� ���� .����� ��� ����4� ��	 78	��

����

��� )�� 2���
�� E = V0 + bB + Δ �	� 9 ��� ����� ��'(���
�� 2�������

��
�	���� 9 
�� ������ ����� ��
��������

#� ��� ���'����� %���������
 ��	 �������	 /�  �	������ /�:� ��� ��� ;��� �����
�� 2��(
��
 ��
� ����� ������	 '�	�
�	������ ��		 ��� 5������	���� ����� �����
6�����&;����� �� ��	�������� �	�� ��		�� ����� ��
������� ������	�� ���	�����&
���� �(����� ��� ������ ���	 ����� ���� #� ��� ���� ��������
�� ,�����
�
�������

��' ,�����&;������ �8���� ���	 ��������� ��������� �(
���� �����	���	< ��� ��� ����	&
�� ��
������� �	� 
����� +���� ���� �������	���	< ��� ��� �����	�� ��
������� �	�
��� +��� ���	�������� )�� ��	�
������� ���� ���
� 
����� ���
 6�	���� ������ 
��
p = 0 ���= ��� 7����
������� ��
��� 	���� ���� 
�� �� ��� )��	������
 ���/�� ���
���
�
����� 78	��
 ��� #���$ ��� 6>������'������� �� ��� �����	��� ��
�������

����� +��� 	����� ��	� 
����� ��
.���
�� "����� ��� ���� ��� ��'(�
������ ?�����&

��
 ��	 ������
	��� ��'�� ��������� �� ���
� ��

�� ��� ��� ����
�� �����������
��� ����	�
� ������
��� #�����	 ���
��� �8���
 ��	�8	���� )�
�� ��
��� 	���

����@� Ψ−1 (η) =
1

4
√
2π

·

⎛⎜⎜⎝
0
0
0

D0 (η)

⎞⎟⎟⎠ ≡ exp
(
− 1

4η
2
)

4
√
2π
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������� ���� �������������� ��� ��1��������� 2-�-�����&-��!
"�� /-����� �,�
 -��� ��� 1���-�&����� 2-�-������ �3�  �� 45��$
6-��$7�55����, .& ������� &��� &��� 1��� ��� ������ %�� &�'����,

8�&���� ��������&(��� �&� #� ���
  -&& �� ��� �� %'���� ��� -��� ��� (����$
���
 5�����-���� -����������� 2-�-�����&'����� �3� b = 0 �����  ��-����� ����$
�������� -����-�! -��� ��� ���� &� ����� %�� &�'��� �-� �& (� �� ���� �������&���$
���� ���  �� )-� -�$9�1�-� ���� ����� ���� +��������� �.��-������  �� ������

���	�
��
	�� 9�1�-�& ��������-� ��, :��& ��(��&�  �� ;���-�$.<��� -�& ��&'��$
���� �3�  -& 1��&����� ��&��������� ����-����  �� .������ �� 8��'�������� 1��  ��
4�'���  �& =-������� �&! :�� ;���-�$/��� ��,	� �&� (�&�������
 ��  ��  ����  ��
1��&���� ���� 45��$6-��$7�55������ ���������3����� ���&����������  �� .������
���5��&-����&�� (�� �� ���3�����������, :- �� ���  �� �-�����&��� %�� &�'��� B
#� ��� ����-� ����������
 ('���� &��&� ���� 2��5������-���'� ��� "�����  ��&�����
��&���� > &���� ��  �� %'���� -� ��& ��  �� %������ ��,���
 ��,��� ?��� b = 0@ �� 
��,��� >
 ����� �& ��� (������� ;�(-��&  �� %�� &�'��� ��  �� ������& ��&���� �����
�������5��&-����  �� ��������&���� .<����,

:��&� ;�&-�����'���
 #� ���-��& �� 1���������� $�����&��&���� "��&� �� ���-&$
&��
 ��&�-���� ������&  �� 1��&����� ���-����
 �����3���  �� 1���&�'� ���� 8�&$
 ���� ��,�
� �� �-����-��&���� ���&����  ������� ����-����� %����� ��,���! A���
 �� ;���-�$/��� �����  ��  ���� &�� �������� .������ �����-�&�'B��� &���& �*���
-�&  �� "��� ��,���  �& ���&5������ �� ������ )-� -�$9�1�-�& �� �'���� &���  ��$
&�� �3� B 
→ ∞ ���B -&C�5����&�� -�, �
�  �� ;���-�$/��� -��� �&� �3� ����
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��� ����#��������� ������� 
�� $%&�
�����
−→
S (y) = Ψ+

(−→s
2

)
Ψ ��� 
�� ��%

��������� �������� −→s = (sx, sy, sz) 
�	 ��
����� ����	 �	� ��� ��������� '�����%
��� ����( �)� p ≥ 0 ��	� �*!+,�( ��	 
��	�� ���)���
� ���
�� �� ����
����! -)� 
��
.���������� �� 
�� /������%0���� ������ 	�
�

�*!12� Sx (y) ≡ 0

��


�*!13� Sy (y) = N2
p · ν↑ − p

Λ
·
[
p ·Dp−1 (η) +

ν̃↑−
ν̃↓−

·Dp+1 (η)

]
·Dp (η) (

����� 	�
� 4�������	 ��� 5����
���		����� 
�	 ������%6���	 ��

�*!78� Sb=0
y (y) = N2

p · ν↑ − p

Λ
· η ·D2

p (η)

#�������
��9 �� ���
�� -����� ������� 
�� $%.��������� ����	� ��� 
�� :%.���������
 ����� �����%;������ ��� ����< Sges

x = Sges
y = 0!
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�� ��� 0���� 
�	 /������( ��	� �� �%&�
�����( ������ 	�
� #��������	
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Sz (y) =
1

2
N2

p ·
[
p2 ·D2

p−1 (η) +

(
ν̃2↑− −

(
ν↑ − p

Λ

)2
)

·D2
p (η)−

(
ν↑ − p

Λν̃↓−

)2

·D2
p+1 (η)

]
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·
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·
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1 + p+1

ν̃2
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)
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ν↑−p
Λ
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·
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ν̃2
↓−

)
5�� ;������ ��� �	� 
��	�� 	���	�#��	���
��
� ������	 ���?�� ��	 1

2 ��
 �����
��

��	�� 0
 ���� ��
� ��� �� 
�� ������
��( ���
�� ��
�#������������ -�����<

�=� Sges
z = ± 1

2 ��� λ = 0! ;�� ������
�� &�	���%.������� ���	
��� 
�� ����	
#������� 	�
� 
��	����� #���	���
�� ��	����
����! ;�� ���	���
���
 �����%
	
���
��
��� 0������ �*!11� 	��
 ���
� 5�����
��� �0��	���������� �����
�9
	���� �@!2� ��
 �@!=8� �� ������!

�+� ��	 /�������� Sges
z 
→ − 1

2 �)� B 
→ ∞ ��� #�����
���� ������%6����!
A� 
��	�� -���� ���
 
�� ������	��
����� ��� ���)���
 	��� �� -��
� ��� %
��	
� ���������! 6��	�
���
� �����	������ �	� 
��	 ���( ���� 
�� ��
����
B�������� �Δ ��
 λ� ��
�� �� ���? 	��
!

�*� A� /���
��	���
� �*!*3� �	� Sges
z = − 1

2 ! �� 
��	�� ���� ����� p = −1
��
�
� ��
� ��
�� �������		� ���
�( ������� 	���� ;����
���� ��	� ����	
������ �����!

A� ���� �����
��� '��	�  ��� ��
� 
�� �����
����	������� �����
�
���
−→
J = Ψ+−→σΨ

��	����� ���
��( ���)� 
�� �������� −→σ = (σx, σy) �������� ���
( 
�� ��	 
��
B����%C������� �)� 
�� "���������� �D; ��	����! E������ �	� ���� �� ���
����( 
�		



�� �� ����	
�������
 �������� �����
 ���

��� �������	 −→s 
	� −→σ ��
������	 ��	 ����� ����	���	� ����� ��� �� �������	�
�������� ������ ��������	��	  ����	!���� ��� "����#�	 
	� �� $�	���	� ��� ���
����	 ���	%�!��	 ��	&��� ��	������� ��	 ��	��' �	���������� (���)� ��	 ��)��� ��� ���
*×*�$�	����������+ #
 �
������#����	 ��	�� $�	���#�	 ��� ,����	!
	����	�	 ���*-�
����
�

������ Jx (y) = −2N2
p ·
[
ν̃↑−p ·Dp−1 (η) +
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� �(� �	� ������� 2+ 	��	  ������	� �(� �	� ���
����� 0++ ��	� 	��	 �	�����	 3���	������ ����
�	� ρ (y) ��� Sz (y) �	��	��� '	��	�
��� ��� 
��	��	�! ��� ρ (y) ���� ��� �	� '	��	����!���� ��� �� !��� ���� �	��
��
� �� 	��	� 	���� �	���4�	���	� '	��	� ���
���� ��� 	��	� 5�!��  	� �	� � ���
6��
� �� 7	��� ��� ��	 8�3�� ��	��	 Sy (y)9 � �	
�	�� �	����
�	� ��
� ���� ��	�
�	�� "	����� �	� �	����
�	��	� 3���	 �� 
��� ��+� ��	 �	� :	����� �� Sges

z �� 
��
�&����!	�� ��� �	� ;	����&�!	 B �(� ��� ;	����%��	�� ������� ���	�	����� ��� ��
�
��� "	�����	� �	� � ������	

6���$9 Sz,Σ (B) =
∑

Ei≤EF

n (Ei, B) · Sges
z (Ei, B)

�� 
��&����!	�� ��� B� ���	� n ��	 <	�	����	 7	�	����� �	� %��	��� ������� �	
��
�� ����	 = �	� �����	����� 	��� �	
�	�� = ��� 	�� ������� ���	����� EF �� ��	
��������� ���	���	���	�1 �� �	� 24�	 �	� � �(��	 &��	�� ��	� <	��
� ��
���� 7	�

�����	 	��	� ��������	� ;	����%��	��� 	������ 	�� 	����
�	� � ���� �	� ������

;	��	�� Btr1 ��� Btr2� �	� "	����� �	� 3���	 6���$9 �� 
��� ��+ �	���	�� ��� ��
	�	��	�� �	�� ��� �	�	�!�� ���� �	� ������� 0++� �	� ��� 	�����	� 	�� �	�����	�
Sges
z �� ��	 ���	���������	� �� �	� >��	 ���� 	��� �		�� ���� ����� ��� �
���	?��
�

���� �	�(��� ����

������ ����	
�	� �������� ���

���� ��� ��� �!�	���� 	������� "#��#��
$���#�

�������
�	� ��
� ��� �� ��	�	� �	� ��
�	�	� ;���	 �&��� ��	 !��������	�	��	 '���
!��� �	� �	� 2�
��	���@�	��&��	� ��� 
��	A '&��	�� ��	 B��	���� �	� ��	���	�
������	 ���	��
��� �	� ���	��� �	!�(���	� 3���	 �� 
��� ��- !��� ��
� ������
��
�	� ��� = ���	 ��	����� ����	�� ��
� �� ������	����	� %&�	 ��� Bcr1 = 11, 44 ,
��� �� 	��� ��*C =� 	������ 	�� ���� ����!���	�	� 5��
����	� �	� � ���� ��	�	
��
� 
��� ��*D� >	���	�	 �	��	����
�� (�	���	�� ��	 �	���� ��	 5��	��
��	�	 �	�
�	��	� 	�	��	���
� ���	�����	� 	�����	�	� ����&��	 �	�(���
� '����
�	����
�!	����
��� �������
��	 �
�����	����
� �������	�� �&��	�� �	��	�	�(�	� ��	 � ��	����	��
����	�� ����	����	�	 ��� �	�	� ��3�� ��	��	� ���	������ ��	�����	� ����  	��	!�
� �	�	�������
� �	�����	�� 7	��(��	� ��	�� ��	� ������ ���� = ���	�� ��� ����� = ���
�	��	 ����&��	 ��� ��	�
�	� >������%��	�� /��	� N = 1 ���  ������	� ��	���	0
!���	� ����	�	�� ��� ��
� ��	�	� �� 2�
��	��	 �	�	��� �����	�� ���	�&�	�� ���	��
���� (�	���� � ��� ��
� ��	 6���� 	���	�	��	�	���	9 � �������
����� 	��	� ���	���
��	 �	�	�!���	� 5��	��
��	� ��� ��� � �	� ���	���������	� �	�����

��	��	�(���
�	 ��������� ����	 ���� �� 
��
����� E�. /��� ���� ��	�	� ��

��
����� ���� ;��� �90 ���	����	�� ��
� �	� �		����,	�� 6��*9 �	���!� ��� 	��	�
�	����	�� ��4?	����������&?�� * �	" �	����	��	� 5��	��
��	� �	� ��	���	�� �	�
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���2�� Ψ0 (η) = Ñ0 ·

⎛⎜⎜⎝
0

(1− ν↓) ·D0 (η)
iΛν̃↓− ·D0 (η)
−iΛ ·D1 (η)

⎞⎟⎟⎠
%��

����9� Ñ0 =
{√

2π ·
[
(1− ν↓)

2
+
(
ν̃2↓− + 1

)
· Λ2
]}−1/2
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����.� B 
→ BΔ := Δ/b ⇒ ν̃↑+, ν↑, ν̃↓−, ν↓ 
→ 0
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�������������� �������� %D0 ��� ����� �������(� 6��������� ��� ������������ 	����
������ /���	�����	�� ��� ���������	 ���� �	� �� �	���� B = BΔ ,������ �� �	�
��� ���� �� !��	� �	
 ����� 
��� ��� �������� 	�� ��� �� �	�� �	� ��������� ��������
����� ��� ��������� <������� �������� ��	����� �	1����� �	�� ���������� 	��
��� ����� ��� ����������� ����� ������� ���	����������
���	�� �� $���� =�������
��	������ ���  �����������	���	��� �� ����� 	�������� �	���������� 2���� ��� �����
������ �������� �,������� ����� 0�� ����� ����� 	� ��� !���	�	�� ��� �� #���
��������� /����������������� ��� B ≷ BΔ ������� �	 ��
������ ����� 	����� �����
>	���	��� 
�� ���  ��������� y �	�� ��3����������
��� 
����	������ ���� ���� ���
bB = Δ ��� ������ 2?��� �	
������ ��� ��� ������� /���������������� ���������� ���
=������ @ 	�� �� ��� ������������� 6���� �	�� ��� ������ /������ @ ���������� �����
$� �	��� ��� >	������� 	�� ��� ������������ 2�����	��� ��� ��� ����� ����	����
���� �,������ �	1�� A���
���

)� 
�������� ����� ������� ���� =�������� y ≥ 0 ����������� ��� ���1� ����
<������������� ��� ����� �������� #����� ��� �B��� ��� y = 0 �����	
�� �� ����
�������� ������ �����
� !������	�� ��� ������� @ ������ ��� �� ����� ��,����� ���
������� %��������� &�'( ������� �� ���� ����� ���1 	� ��� <����� ����� 0�����
�����
���� ����� ������	�� �� ����� �� ���� 	����������� <�������
��� @ �� �����  ���
���		��������� ��� �� ���� �	 <�	��� ������ ���������� ����� ��,C	���C	����������
!��������	�� ���� ��
����� ����� ����� ����� ���� ������ ���������� ����	��� �����
������� ��� 
������� ���	����� 	�� ���� ������	����� !��� ���� ��� ��� ����������
2������	�� ��� 2������?���� ���� ���������� %	�� ������� ��� ������� ����� �	��
������ 	�����	�����( #����	��,��� ��� ���� ��� #��������	� 
�� ���  �������
������������� ������.
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��0 ���
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��	 ���� 
�		 ��� �	
������ !�
���	� η0� ��� ��
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Dp (η0) = − p

ν̃↑−
·Dp−1 (η0)

Λ �→0
−→ −ν̃↑+ ·Dp−1 (η0)�-�..�

Dp+1 (η0) = −ν̃↓− ·Dp (η0) ��-�.1�

��� ���� ��2�� �� ��� 3����������� ��� 4���� p 
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√
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!"�,9% exp (±iθα) ≡ cos θα ± i sin θα = wα · kx −A0 ± iqy,α
E − V0 −Δ



�� �� �����	
������� ��
����� ������ ���

���� ��� �	
� ��� 
���� ���	���� ������
��������� α = ±1 ��� ����� �� �	�������
����� ��� ��� �������� ���� �	 ������ ���������� ����	��� �� ��
�� ���� ���������
 �������	�� ���������! ������� ���� "������� ��! #�� ��� ������ �$���
��� % 	��
����� ����
������� "���������� % �����	���� ��� ����� ����������� �	 &���������
����� ���� ��	��� ��
� ������� �	� ��� '����
�� ��! ���� �� ����� �� �������	�� ���
��� (����	�� λ �	������! ������������ �� �)�*+�! �� #��� ������ ���� �������
� "��
�)�*)� ��� ��� 
���
�� �� ����������� ������ �)�,,� 	�� ��� �
����-��
� ��
�� ����
�	 &��������! #��� ��� �	 ��� .��� ��������� (����	�� λ = 0 &�������/


� 0������ ���� 0	�������
� ��� .�������� �	�� ��� 10�2����
�3 ��������������
����� ��������	 4�������� V0 = A0 = Δ = λ = 0 	�� ������"����5����
� �	
� ���
6��������� B = 0� ���� #��� �	� �)�*)�

�)�*7� Ψ
(±ky)
N (y) =

1

2
exp (±ikyy) ·

⎛⎜⎜⎝
exp (∓iφ)

1
−αi

−αi · exp (±iφ)

⎞⎟⎟⎠ �
8������ ��� ���&���
� tanφ =

ky

kx
! ������ exp (±iφ) =

kx±iky

E ����� �� ��� ����� �	�!
#�� ������� ������! ���������� ����! �$���� ����������� �	
� ��� ������ �	���������
��� 9������������������

�)�*:� Ψ
(±ky)
N,↑ (y) =

1√
2
exp (±ikyy) ·

⎛⎜⎜⎝
exp (∓iφ)

1
0
0

⎞⎟⎟⎠
	��

�)�**� Ψ
(±ky)
N,↓ (y) =

1√
2
exp (±ikyy) ·

⎛⎜⎜⎝
0
0
1

exp (±iφ)

⎞⎟⎟⎠
���#���	�� ;����� ��� �������
������ Ω�6������� ;���� ��
� �� <������

 � ��� ���������#���! ���� �� �=<��2����
� ���� ����������	�� ��� <	������
�	������
�#��������� ��� '���
��� �	�� ��� <�������
���� �����&��� >����! ��� ��
0�2����
�� "������� 	�� �	�
� �+�,*� ������� ���! ��������� ���� ����� ��#��� �	�
��� ������������������� �)�*+� &��� vx,α = ∂E

∂kx
	�� vy,α = ∂E

∂qy,α
��� �	
� �	�

��� ?������	������ �)�*)� &��� ��� ���������� .����� �&� ��� '���
����������
���−→
J = Ψ+ (vF

−→σ )Ψ� ��� ��	���
����� ������ #	��� ��� �	"�� ����
�  ��� ��������
.����� vF #����� ������&��� <	� ������ ?���� ������ ��
�

�)�*@�
−→
J = v��F,α ·

(
cos θα
± sin θα

)
��� ��� �A����"�� .�����B��
�#���������

�)�*C� v��F,α := vF ·
√
1− δ2α �

<����� ��� ��� ������� �� <��
����� +�* ������	���� 6$���
����� ����� ���5����	��
��� .�����B��
�#���������! #�� ��� ��#� �	�
� ��
�����
�� �������	���� ��#����
#����� �$����! ��� �	�
� �������&��� ����;������� D������� ��� 4�������� t ��
�+�,*� �����E	���� % #�� ��
� ���� �������
� �� 4������� ���� ���������� 4���������
���
�� ���	������� "����� %! ��� ��� �A����"� <	������	������
�#��������� �)�*C� >�
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���� ���� ��	 
�	�����	 
�
�����	 ��	 �� ������ ������	��� ��	�������������
����
vF �������� ��� �	������� ��		��
�	� ����� ���	� �!� ��	 "��	
�� ���#�
�
 ��� ����
�!
�	 ����
����� $�	 ��������� ��	�� ��	������ 
����� %��� ��	����

��� ��� ��	 &����!'��� ������� ��� ����!
 (�	 )�������!'��� ��� ���� ���
*���
��
 �!� "����	!��� �� +�����	������ �����	���� �� ����� ��� ��� ����
�� "����	!������	!��!'�� ��	 ���� ��� ��� ����	������������ 
!������� �!	���
� �	���
���� ,��	
��
 ����� )�������� !��	 ����	 ����� �� ��� -����� ��� ��	#���	��	 .���
�	�����
�
���������
���� ���� .�������
 �*	�����
� ��$ / ��(�����
������ ����
��� �!����	 ����� �0
���� ���� �!���� ���� )!���	�1�2�!�� "� ���� �#����� ���� ����
��� .���	�����
 �� 34.3�*�	����� (�������� ���� �����	 �������
 ���
������ ��� 

�	 ����� �������$� ���� ��	� ��� (��	 ���� ���� qy,α ���
��#	 ���5 ���� �6����
��� ���� ����	 ����� 7���#���� ����! $�	 ���� kx� ���� ��	 ���� ���� ��� "��	
�� E
�� 8���	����

�6�9:� [min {V0 +Δ;V0 + αλ−Δ} ...max {V0 +Δ;V0 + αλ−Δ}]
���
�� .� ��� �	��(�� ������ *�	����� ��	� δα = ±1 ��� �6��;� ��	����������

.�<�	���� ��������� ��� |δα| < 1 ��� ����� wα �����! ��� qy,α 	����� =��(��
$!�
� ���� ��� .��	�����
 ��� +�������� �� �6��>� ������ �!	
��!���� ��	��� ���
��� �	
��� ����������	

�6�9��
cos θα
wα

=
kx −A0

E − V0 −Δ

���	 8��
��#	���� ���$�	� ���
�
�����	 ������ %������ =� ��� 	����� 3���� ����� �!�
α ���#�
� 
��� ����� ��������
 $�	 ����� ��	�� ��� 
�������� 
�	�����	� �!����
���(�����

�6�9��
cos θ+
w+

=
cos θ−
w−

=
E · cosφN −A0

E − V0 −Δ

��� �!��� �!�� kx = E · cosφN ���
����(� ��	��� =�	 ��
�$�
�� 8���2 � �!�� ��
������ ?����������
� ��	��$ ��������� ���� ��� ��� ������ φ ��� .���	���
���
�	������
 �� %�*�	���� 
������ ���� %���� ��	 ���������	
�� E ��� @� ���
8�'����!�'!����� kx ���� 8���	����� ��	 *���
��
 ���� ���� ��� �!	 ��
��!��
��� ��	� ���� ���� A���	��
 / ������	 .	� ���� ����	 / ��	 �� ��	 B�+������

���������� ���� �#�	��� ��� C!�!
����#� �� ��	 2�+������
 
	����#�(���� �����

������� ������� �!��� D� ������� $�	 ��� ����� ��	�� �!� α ��� ��������
 �6�9��
�(�� �6�9�� �	$�����	 ��� �!��� �� (� ����	 "��	
������� (�	 
!��	�����!� !��	 (�	
=!''���	�����
5 ����� .����
�

=�� ������ ����	 A���	��
 �!� +������
 ���E!��	 ����������
���� ��� ���
��	���� ���!���� ��� ������
�	 7������ ��� �� ��� (� ��	���������
�� 
��� ���� ���
���� �� .�������� 6��� )	��������!��� ��� 34.3��������� ��	��� !��	 ��	�� �!����
�����	�� ��	������ �����

���� �����	� 
������
��� ��	����	��� �����������	

"� ��� (� �!�(����	�� ���� ��� 
	#�������!� ��	 .���� 6�F 6�� ��� 6��: �� .��
������� 6�> ����� !��� ����� 
������� ����	�� G!	������ 
������� =��� ��� ���� ��
����	 #�<�	���� �� 2� ��� B�+������
 �0���
 �!�!
���� 3������!� ���� .��#�
�
����
������	�	 �	0<�� �!� ��	 H!!	������ y ��$�������I

&��(����� �	
��� ���� ���� ��� ��� .	��$��� ��	 &������"�����
 �6��>�� 3�����
���� ��� ����� ��� ��	�� 8�'������!��� ��� 
�
���� ���� ��� ��� *�$�����
 ���



�� �� �����	
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����� ������ ���

��������	�� 
��������
���� ��	 ��� ����� 
���	��� ������	� �� ��������	 ������
���������� ���� �������� ��	��	��� 
���������	�	� ������� ��� �������������� ����
�� ��� ������� � ��� ������� ���	 ����� ����� � �� ��������� !�	� y0i ��� ������

���	������" #�����	���� $��% ���� ��� &������'�
���� ���������� ��	��	�	" !���
#���������	����� 
�� �(��� ��� �����)�*������	������� �����	 ���� ���� ��������(��
���� 
�	��	��� gA = Φ/Φ0 (��(��	����� ��� *����� A ��� +���� ��� ��� ������	�
��� ��� ,����	 ����� Φ = B · A ��� ������	���� *����-���	�� Φ0 = 2π�c/e� ��
���� �������� ��� &���������������� ����� ������� .��	����� ����� ��� �����	�����
&���� /0"123 ������� ����" 4� ��� ��������������� �������� η $,�������� /1"563% ���
���	�	 ���� ����� 7��	��� ��� ,�89��������� 
��� ��� ��� :������ ���������	��
.��	���" 4� ��	�(������� 
����������� .������������� 
����� ������� .��	����
/��� �� ������ ��	 ��� ;������������	���3 ������	 ���� 7����		����� ��� ,�89��
Sy ��� Jx< ��� 4�	����	��� ��������	 ����� ����������9�� ��	���	����"

=������ ���� �� ��� ��������� ��	��	��� Sges
z ��� �������� ,�89�� ��� #���

�(��� �� 7����������	 
�� B /����� 7��" 1">3 �������	� ��	 ����� ��������� ���	���
����� ������ ��� ���:����� 
�� Sy� Jx ��� ρ ����	 ���	�	������" ?�� ��� ���� ������
���� ���� ������ �������(	 ����	 �@��	���	" 7����� ���� ����� ���� ��� A�������	�	
���������� ��� B�������������� ���������	 ������� ��� ��� .��	��� ��� �����
���	���	�� !�	 ���� #������ ���	������< ��������� 7��" 1"C ������ ����� ��	���
���� ������������� ���	��	��� ��� ����� 
�� ��� B������������ ���������� ���� ���
��� 4����� ��� ���	�������� ����������� �������	 ����"

,���� ���� ���� :�	�	 ���������� ��� ���� ������ ���� 
����������� D��E�����
	����� ��	����	�	 ������� ���� ��� �� )�B���	��� 
����������� ��� ����	 �������
�������� ���	��� ��� #�������� �������� ��	�� �������	�� ;��	����� �� @�B���	���
��� =��������	�� $��% ��������� �8����" 4���� ����� ��������� ��	� ���� ��� ��		�����
#������ y ∈ [−L; +L]� �� ������� ��� ������ �(���#����D�((������ ����� �
���
	���� ���� ���� ����������� ���������� ������� ���� ������� 
�� ���������������
#�������� ����������� ����� �� ����� ��� ������� 
���������� ��� ��� ,��(����
������	 �������	�	 ��	� ����� ��� 
�� ��9�� �������	�� �����	���� ������� ���" ?�
���� ������ +����� ������� ���� ��	������������� *����F

• D��E����	��� 4 � ��� ��	�(�������� *���� �� �)���������� ������������F +B
G �!7� G −B� �"�" Bz = +B ��� y < −L ��� Bz = −B ��� y > +L �����
Bz = 0 ����������"

• D��E����	��� 44 � (��������� *���� �� �)���������� ������������F +B G
�!7� G +B� ���� Bz = +B ��� y < −L ��� y > +L /��� ������ Bz = 0
����������3"

• D��E����	��� 444 � �)���	������� *��� ��	 ,�������� �� ��		����� #��
������ �� �)���������� ������������ ����F +B G �!7�−B G +B" =�����
��	 Bz = +B ��� y < −L ��� y > +L� ���� Bz = −B ����������"

��� ��	�	� *��� ����� ������	� ����	 ���� ���� D��E����	��� ��	������	 ����� ���
��� /�� ��		����� #������3 ���H :��� 
�� �����89�� ��������	��	��� ��� ��� ���� ��
��� ��������� ��	��	��� ��� 7������		�� 1"1 ��	����	�	 ������< ��� 
�� .������

I��	� ���� ����� ��������� ������" ��� ��	�	������	� 
������������ ���	 ������
���� /��� ���� #�������3 �� ������ ��� ��� �����	�� 7������		 ��� ������	 ����
��� ��� D�������	 ��� 
I��	��� �	�� J�J5 ��� ��� ��� ���� ������	�� *����	���� B
K J�0 L /
��������� ���� ���� L��" 1"M ��	 L��" 1"N� ������������ ����� 
��	����
�� ��� :������ 
����	�	�� .����3" ��� /�����3 #���	� ��� ��		����� #�������� �����
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�� ��� �������	
�� �
��� ������		�� L = lB := 1/
√
B � ���� ��� ��� ���� �����

	
����� ������������������ �����  ��!�� �� "��	
��# ��� $##� %�&'( ���
� ���
#����� ���������)��������  %���( ����#��� ��� ��� ��
����	
�� *��+������� ���
 ,��� $#	
����� '��( ��� )������ #������� 	���� -.���� ���� 	�� ���� �����	
������
����� +� A0 = 1, 6 · 107�−1 ��� V0 � /'0 ��*�

"	 ������ ��� ��� ���� ���1���������� �� "��+����� #�	���
����

������ ����	
��
��� �� ��
����������� ����

2�� ��	
����#��� ��� ���� ,����	������ 3�����-�������1�������� �	� ��	  	���
����( *�4������������

 %�5%( Ax (y) = −B ·

⎧⎨⎩
L+ y -.� y < −L
0 ” y ∈ [−L; +L]
L− y ” y > +L

��������� $�	 6�����-��4������ 1���� *���������� �� 3�����#����
�  ���� 3������
-���( ��� 7��4������  %��%(� ��� -.� ��� �������	������ $�!��#����
��  ���� �8$�(
49���� ����+������ ��� 7��4������  '��:( ��	 ������� ' �������+���� ������� "	 ����
�#�� +� #����4��� ��		 ��	���	 ��� ���� ���������� ;���< ����� ��� ���
�#��
�����
=��������
� 4��� ��#������ ���++������� ���� 	��� ��		� ��� ��		 +������	 ����
"���������� ��- *�����	������� 	����+�1���� ���� ��� ��� �
���� ���� ������#��
+����� ;� ���	�� ����� -
��� ��� 6��� ��- ��� -�������� 7��4������� ��� �� $�����
��������	
����#�� 	���� ;� �����
� y < −L ��� 7��4����  :�&�( >��	����� ,��  :�&'(�
���
�� -.� y ∼ η 
→ −∞ ��,�������? ��� ����� @����	�.
4 -.� ���� � 	���� ��
�����
� y > +L ���	���
���� ��� 7��4����  :�&�( ��� ����� )������� 6����# ,��
A#������	��#��� |y| � L ,��	
������� ���	� ����	���� ��� �� ��������� �����
��
	��#	� ��-��������� 7��4������  %��%( >��	��	��� �#��-���	 ,���? 	��� �� ��� 3����<
 :�''( +�	�������-�		��

��� )��	��-�4����� exp (ikxx) -.� ��� $#�
����4��� ,�� x 	��� ���� ��
�� ��-�
��	
����#�� ������� �� 	�� #��� $���������-.��� ��� 6�����-��4������ �������
�����	-�����  ���	 ���� ������� B���� )��������� +�� <�$
�	�(� "	 ���� �
���
� B��+�
������ ��� ���C+������ c1...8 ��� 6�����-��4������ 	� +� #�	������� ��		 ����
	� �� ��� @���+�� y = ±L 	����� ����������	��!��� �� ��� ����
�@���
���� ���
,�� ��	��� 8������ ��
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� ��/� ��	 +�
��!���	�� �	����
	. ���(
�/����� �	
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SOAS (5L) · ΩN (5L) �

/� ���
���� 	�� �	����	� ���� 	� �	������� ���������	
� (��	�
��� y3 = −L ���
y4 = +L, ��
� ���� B�0��� ����� ��� ���� ����	�� ��
����������� (&���������,
"�&���'�����	��� −2BL �	� ���'������ kx ��� 1���������2�&���� ���� ����	
��
�	� �	�� ��
� ��2�� �
��� ���
� �	� ��
���	�
�� "��������� −A0 ���
���� �	��
����'��
���� ��	���������� "���
�	����� �� ��
����� ���� 3	�� �	�� 2�� ����� 	�
()�4., ��� ���	�� ���	������ 	��	��&�� 
-� 
��� ���� 0������ ��� �����5����� ���
�
��	���� )�6�

��	 2����������� ����	��� cos ξ ��� sin ξ ��� �	��������� �	�
�������� �'	�� 7
ξ = 0 ����'�	
�� sz =↑ ��� ξ = π

2 ����� 
-� sz =↓ 7 ������ �	
� ��� ��� �	������
���	
������8����

()�*9,

⎛⎜⎜⎝
cos ξ
r↑
sin ξ
r↓
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'(����� ��� �������� "
�� ��� ����� )������% �� ��� �����
�� ��� ����������
�(��� '������ π − φ ��$����	 (����� ��� ������������ �
��� ��� ���� ������ �������	
�������� ��������������� *����� ��� +
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��- ��� '����� ���� ������& .��� �
��
��� �������� ������� '��� ��� ����������� *����� 
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1�&64 H = H0 +HM

�������� ��	� #�
 �� 
�� ��!�
����� ���	�� ��
� �	
������� 7�����	
������ #�
�����#�&
��� �!
�	� 
�
 ��� �	��
�!���	 �	����

1�&24 H0 = −i−→σ · ∇
���!����	 ���#���


1�&34 (H0 − E)Ψ(0) = 0
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 ��
 #�����
 #���		� '����
��
����8 �
 ��	
��� 
��� �� 
�� ��	��� �	
� -����

1�&�4 Ψ(0) = up · exp (i−→p −→r )
��� 
�� ���	��

1�&94 up =
1√
2
·
(

1
± exp (iθp)

)
&

��
 7�*	
�	 
�� :#��
������������ ���
� ����	*#�� 12&2�4 
�� 1���#���4 ���
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#�����	� ��� 
�� -����	����'����� −→p ��	���� *��& ���
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1�&<4 θp = arctan
py
px

=
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��
 HM = −→σ · −→A =

(
0 A−
A+ 0

)
������� ��� ����������� ������� ���� ����� ���������������

−→
A = (Ax, Ay) = (Ar, Aφ)�

����� �����������  ����� �� ��� �� ������������ ��� ���� ������� ����������� ���
!�������� ����� ������� ������"��� ������� ������������ ��� �#������ ��������
������� ���������� $����������"� ���% ������� ����� ��� &�������� ��� σ'(����"��%
�� ��� ������ ������)�� *����������������

	
�+
 A± := Ax ± iAy = (Ar ± iAφ) · exp (±iφ)

"��������������� (�� ��� ���� ��� ���� ��������� ,����� ��� ��� ����� �������
������#������� &����"

	
�-
 Ψ = Ψ(0) +Ψ(1)

���� ��� �� ��� ���������� ,�������� (H − E)Ψ = 0 ������ ��� ���#�� ��� 	
�.

��� ����� ��������#������� ��� ,������ ������� ������� ��� /��������

	
�01
 (H0 − E)Ψ(1) = −HMΨ(0)%

��� ��� �������� ��������� Ψ(1) �������� �����
2� &������� "�� �������� ��� 	3�.4
 ������ ���� ����� &� ������ ��� ���'

������ (H0 + E) $�� ����� ��� ��� $���������� ,�������� ���� ���������������� ���
����� ��� ����� ������ ����� �������������� ��������� H2

0 −E2 = −∇2−E2% ������
2�$����

	
�00
 GE

(−→
k
)
=
[
k2 − (p± i0)

2
]−1

�� 5���� ��� 6�����"���$������� �������� ��������������  ����� ����� ����� ��'
������ ±i0 7���� ���� ��� ���� ���� ��� ���"������ ��� 8������ ,������9 ��� �:���'
������ 8�������� ����� ���$�����"����������% ��� ���� &��������� ��� 2����������
��������  ����� ���� ;��� �����"�  ���� <� �#����� ��� ,�������� =������� GE

��� ��� /��������� ��� ���������

	
�03
 Ψ(1) (�r) = −
¨

d2−→r ′ ·GE (−→r −−→r ′) · (H0 (
−→r ′) + E)HM (−→r ′)Ψ(0) (−→r ′)

��������� ������ "� ������% ���� ���� ���� 5����������������� �� ��� ������
5��� $����������  �����%  ����� ����

	
�0.
 GE (−→r ) =
¨

d2
−→
k

(2π)
2 ·

exp
(
i
−→
k −→r
)

k2 − (p± i0)
2 = ± i

4
·>(1)

0 (pr) 
→ ±1

2
· exp (ipr)√−2πipr

������� (������ &� ������ ��� 5����������"�� �� ��� !����:?����� 2�������������
�� ���� ��� ���� ��� ������������ "�� >�����'=������� ������ &�� ��� $�� �������

�������� 8��� ��� ��������� ����� �:����� >
(1)
0 (pr) ��� ����������� >�������'

�������� ��� �������� ��������������% �� ������������ ���@�� &���#���  ���� 	�����
&��� 
�0�
 $�� ��� �� =�������� ��������� ��� ��:���������� ��������� ��� pr �
1 ��������  ���� 2� �������� ����������� "���� ����%  �� ��� ��� &� ������ ���
,��������� =��������� GE �� 	
�03
 $��"������ ���% ��� A� ��������� 	
�0.
 ����
��� 8����"��� −→r 
→ −→r −−→r ′ �����B
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dStr

��������� 	
�
 ����������� 	���
���
��
� �� �
� ����������
��� 
������
����� ����� ������ ��� ���������������� −→p 
���� ���
������ θp ��� ������� �
 ����� �� !����
�
� "�#�������� 	���
���
������ ��� ���� �"������"�� 
��$ ���
�������� 
� ����� %
������
�

�
 �����
�������&  ���� �� ����� ������� ������� ���� ������� '��� ���
�
��� ��� ������ α 
�������������� (��� �� ��
��� 	���

�
 ) ��
����� ��������� ���� 
��� |−→p ′| = |−→p | = p ) "������ ���� ��� ��
� *
�+
����
��� ����� ��� −→p ′ �� ,����
�
 θp′ �
�� ��� 	���
'����� ��� ����
θ = θp′ − θp 
�� ��� 	���
������ −→q = −→p ′ − −→p � ������ -����

��� q = 2p · |sin (θ/2)|� 
�� �� ����� ��������� �
� ���������"�����+
��� �. �'������ −→p 
�� −→p ′� '����� ��� ��� /+%���� ��� ������
Σ = θp + θ/2 = 1

2 (θp + θp′) ���������$�� "� �
� 0�������� ���
	���

�
� ��� 
�����
�� ����� '���� �� ����� 1
��� P ��� 2���+
������ −→r "���������� �
 ��� ��� ��� ��� ������������� 1
����� −→r ′

��� 	���
��� �
� 
����
�� ����� ������ ��
��������� ���������
'�
�� *����� 
�3$�� %
�����
�
 ��� !����
�
� �
� "����
� d����

��� |−→r ′| ≤ d��� � |−→r | ≡ r 
�� �4���
�
�'���� −→r ‖ −→p ′� 	���� ���

�� ������ (4���
�
 |−→r −−→r ′| ≈ |−→r | − −→p ′−→r ′

|−→p ′| �

��� ��� %""� 5�6 �����
�� 
��� �4���
�
�'���� p · |−→r −−→r ′| = pr−−→p ′−→r ′� �4�+
���� ��� ������ *��������� 7��� "�� ��� �� (����� ��������� �
�����
���
�� ��
+
��� ��������4���
� '����� ����� 
��� ���� �� ���������#�������� �/�������������
���
�
�� ������'�
�� ����� ���� ��� -���
�� ���� �
 ����� 
��� 4��������� �"��
��� �����
 ���� *
�
���3���� ������ 
������ Ψ(0) (−→r ′) "������ ����������� ����
�
�
��� ���� ��������� 8���
������ �3���� "���� ����������� �������
� '�����& 9��+

�
�����
�
  �� ������ 9��
���� ��� ��������
�� ���� ��� 9��������������
−→
A �� ,����

��� 	������ 
���
��� ������� �"����
�� 
�� �'�� ��������� ��� 1
r � 1��������� ��� ��+

��� �
 1
r �������������� %����� �3���� ����� '���� ��� ��� ����������� 
�� '�
��

��� �
 E �������������� 7���� �
�� ����� ��� ����� �������� 8���
������ ������
�
'�����& ����� ���
 �"�� ��� %"�������� 5�5 "�� 5�:�

!���� ��� 
�������� 9���
�����
�
 ��������
� '��� ��� �� H0 ���������� "�'�
��� ��� ���������� 2������� −i−→σ · ∇−→r ′ ���������� ��� 
�������� ;������ ��� ���
�
 ��� ����� ��� ��� �������� (4���
�
  �� ��� 0����+<
������ GE (−→r −−→r ′)

�
�'4���� '��
��� ����� ������ ���"��� −→σ−→p ′ ��������� 8��
����� "�'���� ����
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������
(H0 + E)HMup 
→ (−→σ−→p ′ + E)HMup ≡ p · [A− · exp (iθp) +A+ · exp (−iθp′)] · up′


��������� ��� ����� ������� ��� 
���
	� �� ��������� ����� ��� ������ �� !���"
	������������ 
� exp (−i−→q −→r ′) #������
	 ������� ��� 
�� ������� ��	 ���� ���
$ ��!� up′ 
�
������ ���%� �� ��� ���� ���� �������
�� &���	��
 θp′ 
�����	�

'�
	 ��� ����� 
�������� �! ��
��	 ���� ��������������� ���� ���� ��� $	��������
�� ��� '!��

����%� Ψ(1) = ±fB (θ)√
−ir

· up′ · exp (ipr)

��������� �(��	� ��� ���� ��� )��������� ������� �� ���� &���	��
�� ���
�����	��
#����
� *�� +��
�������� � ��
��	 ��� ����	 �����
������ ������
������ ,�	����"
	(	�������� ������- ����	��
����(�
�
� .�	��������� �� ��� ,�	����	(	 ��� /����
������ ��
�
�� #!� ��� $	����� ��	���

����0� fB (θ) = −
√

p

2π
· exp (−iθ/2) · Ã (θ)

��1���	� *�� ������ ��	���	��� 2��3� Ã (θ) 4 
����� $5���	��������
 ����� ��� ���
��� /�����1��	!� exp (−iθ/2) ������
�
!
�� 4 �(�
	 ��
 ��	 ��� '!�����"6����1!�"

����	�� ��� 7��	!� !	��	����
−→
A 
������� ��� ���� �� ���89� ���	�� ��	������	�

:�	 ��� ����� ���	 ������ 
�1������ �! ��
���� ���� �����	 ��� ��;����	�����
$	���<��������		

����=�
dΛ

dθ
=
∣∣fB (θ)

∣∣2 =
p

2π
·
∣∣∣Ã (θ)

∣∣∣2
��� ������ ����� ,�	�
��	�!� ��� 	!	��� $	���<��������		

����>� Λtot =

ˆ 2π

0

∣∣fB (θ)
∣∣2 dθ

�!��� ��� 6���� !�	<��������		

����?� Λtr = 2

ˆ 2π

0

∣∣fB (θ)
∣∣2 · sin2 (θ/2) dθ �

,� @�	
	���� ��	 ��� .��	��� ����������	�
	� ���� ��� 7!��(�	��	�����
 1�� ���
6���� !�	��
������1	��� ������!����� 1�� ��� ����	������ @��	1(��
���	� ����� &!���
� ���	 ��� ������� ����� ����� 
��(	
������ '��	!� (1− cos θ) ≡ 2 · sin2 (θ/2) �� ���
A��������
 
� ��	��������� ��	� *�� �����������!����	(	 ��� /�!����� ��	� ��"
����� ����� ��� ����� BC��������		�D ����=� ��� ����?� ��� *������!� ����� @(�
�
E�F� *� ��� A�
��; ��� $	����(�
� ���� �����	� ��������	�
 ����	
	 ��	� �!���� ���	��"
��� ��� �!�#��	�!������ A�
��;�������
�� 7��������
 G����- �����1���� ��� A�
��;
B$	�������	�D �(�� ��� $�	��	�!� ��
��������

*�� 2��3�

���89� Ã (θ) =
1

2

¨
d2−→r · exp (−i−→q −→r ) · [A− · exp (iΣ) +A+ · exp (−iΣ)]

���� �!�!�� ��  !����� ��� ���� �� ���	�������� )!!�����	�� ��	������	 ������� 6�	
��� @�	
	����� �! 
��
	 ���� E���� ���F ���� qx = −q sinΣ ��� qy = +q cosΣ� ����



���� �����	
��
���� ��� ���������
��� 
� �� ��������� �������� ���

��� ��� �����	
��� ��� ��
�����������������
�� ��� ��	
����
��
����
−→
Aq =

(
Ãx, Ãy

)
��
 ��� ��������
��

������ Ãx =

¨
d2−→r · exp (−i−→q −→r ) ·Ax (

−→r )


�� ������ ��� Ãy �
� ��� �� !

�� ��� "��	��!��#�������� Σ ��
$ �� ���
 �%��� !

������ Ã =
−→
Aq · −→eΣ ≡ Ãx · cosΣ + Ãy · sinΣ �

&� �����	�������
�� '��� !������� ����(� �#��

����)� −→q −→r = qr cos

(
θp′ +

π − θ

2
− φ

)
= qr sin (φ− Σ)

*

������

Ã (θ) =
1

2

¨
rdrdφ·exp (−iqr · sin (φ− Σ))·[(Ar + iAφ) · exp (i (φ− Σ)) + (Ar − iAφ) · exp (−i (φ− Σ))] �

&� ����� ����� ��
�
�����+���
��� !�� ������ ��
�%��
 �� ��� ��������
�� ��� ��	�

����
��
���� (Ar, Aφ) ��� �*��

��� ,#!%����	��
- ������ ��� &�
����
��� �#�� ���
"��	�� φ- ��� *
 ����� .�������
�	
��� ����
�� /���
��� ��!�
- 0��'����������
'����� 	���$ �� '��� ���
� !

����1� Ã (θ) = 2πi ·
ˆ ∞

r=0

Aφ (r) · J1 (qr) · rdr �

2�� �0��

��� 0��!������� Ar (r) �
�� !���#�� �!�� 2��3
�� �
� ��� �!+��	���� !��

2���#����� #���#��- �� Bz =
(
∇×−→

A
)
z
= 1

r · (∂r (rAφ)− ∂φAr) ��
� 4� 	��� #��

��
�
�����+���
��� �
�
�

����5� Aφ = Aφ (r) 
�� Ar ≡ 0

��


����6� Bz =
1

r
∂r (rAφ)

��'%!�
 '������

,���������
� ���� ���� 2� !
���������
���

����7�
−→
A 
→ −→

A ′ =
−→
A +∇f

��
 ����� ����
� #����#���� ��
��#!%������ 4	�����
�	
��� f ��� �!+��	���� ! �����
#���� 8�9:��- ���� ����6� #�� ����;� 
�� �� ��'����� "���� �#�� &�
�������*��� !���
�
����� �
 ! ����5� �� !
 0��%������ "�� �� ! *����� �%��
 ����!� ,�!����- ��
 �����
2� !��0�����* #����
� 
�
�� ��!� � !'� !�� .�����
���� ������
- ��� ��������� ���
����#�� '����� 	9����� 4� ���
 *
� .������� �� 	��
���� !�� ��������
��

����;� lim
x→±∞f (x, y) = 0


�� ������� !�� ��� y� &� �����	�������
�� ������ ��#�� ��� ���#�
0���
%���� !��
2����

��	��
 #�*���� ! ��� "��	���- ����

���)(� f (r, φ+ 2π) = f (r, φ)

�� ! ��� #����� 8���*'��
�

���)�� lim
r→0,∞

[r · f (r, φ)] = 0
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������� ������	
� ���
��� �� �	
� ���� 	���� �� ��
	������� 
�� �	�
���	���	��
����	���	� ��
 ��
�	
���	��

����� 
�� ������� 
�� 1
r �������	��� 	� ����	� �������� �	�
� ������ 
	� �	�

����� ����������  ������ ���!
��� ��	 �	�	��� ��	�"	���� �����
��� #�
���

���� �������	� 
�� 
�������	� ���� 1
r ������	

$� 
	���� ���
��	�� ���
�� 
	� �����%����
��	��� &'�()* �	� &'�(+* ���	������
,�����"�����	��� ���� 1

r �����	� ����
����� ��
 ���� 	�������
��� -.� 
�� ���������
��
� "����	�
� �	
��	���  ��� �	��� ������	�
��� /	"��� 	� ����
�	�
���� 0�	���	��
������� �������� ���
�� ���� ��
�
� �	� �	��� -.� 
	��� 1��
�� �	���� �������	���
��� 2�������	�"	��� 
�� �	
� ���� �
��	��	���	��� ������ ��������	�
��� ��� ��
�
�����"�	������� ��� �.����� ����
���� �!���3

(* /�� ���� #��	�� ,�����"�����	��

&'�45* Aφ =
1

2
B0 · r · exp

(
−r2/R2

)
�����	
�� ����	
�� 6��"������	������	�!� ��
 ���
���	�� �	� "������	�
���  ��
"��#�

&'�44* Bz (r) = B0 ·
(
1− r2/R2

)
· exp

(
−r2/R2

)
�


����� ��!��� �	� ��������
�� ������
� ��� 2	����"���� ��
�
� ���7-8��	�
�����
��!
�� �	�
� ��	� 9�����:��� 
��
� 
	� ����� 
�� 9��"���

&'�4'* Φges =

ˆ
Bz · dA = 2π ·

ˆ ∞

0

Bz (r) · rdr

����
��	�
�� 	
���	�
�� ;��� &'�5<* �	�


&'�4<* Ã =
iπ

4
qB0R

4 · exp
(
−1

4
q2R2

)
�

��
���

&'�4=*
dΛ

dθ
=
(
πR2B0

)2 · p3R4

8π
· sin2 (θ/2) · exp

(
−2p2R2 sin2 (θ/2)

)
��
 �
��	�7�	
�

&'�4)* Λtot =
(
πR2B0

)2 · 1
8
p3R4 · 1F1

(
3

2
; 2;−2p2R2

)
��


&'�4>* Λtr =
(
πR2B0

)2 · 3

16
p3R4 · 1F1

(
5

2
; 3;−2p2R2

)
	��? 
���	 ����	
���� 1F1 
	� ���:����� �@"���������	�
��  ����	���

���� '�5 ������
����	
�� 
	� ������	���� 9���� �	� 	� ��� 
�� ��
� -�����
��
���	�
����� ��	 ��
� �	�� 
	� A	
����� 
�� �	�-�����
�� B�	�
����������� �� θp = 0
����������� �	�� ���	�������� ,���!����������� 	� 
	������ A	
����� θ = 0 #��

�� �	
�� ������ /	��� ������� 	�� ���� �	
�� �� �� ���������� ��� �� �� .������"�
��	�� ����!��� :	����
�� B�	�
��� ���� �!��? 
��� �����������!�
�	
� �C	��	��� 	��
��� ��
� 
�� ���"�.���	
� �	����-��
� ������ &'�'*� D�
�
� ���� �	
� ��	� B�	�
���
��
� 	� ��	��� ����-!���	
��� A	
����� -����������� ��	
��� �� �	� 
�� ������

������ �������� &'�44* 	� E�
�����	����� ����� /������ �!�� 
	�� �����-���� .���
�	�� 2���-�
���������� 
	� ���� ��� �� �������
��	��	
�� �� 	�� 9��	
�� �� -������
������
������� ���
��



���� �������	� 
�� �
������	� 
��� 1
r ������	 ���
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0
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Λtot
Λtr pR=0,5

pR=1,0
pR=1,5

��������� 	
�
 ����������� �	��
�� 
�� ����������		� ��������
�
���������� ��� ��� ����

�� �� ��
�����������	 ������� ��� �
 !

����
�� "��� Λ0 =
(
πR2B0

)2
R ��	�
�� ���� 
��#����		� ������	!

	
��$ ��� �
� ���� #�� pR �	� ���%���� &�������� ���'���� �� &�!
	���������� (��� ��� )����
������'����
���  "� ���� #�����������
����'�������#� *���� �
 ��%����+ ��� ,�	 �
���� ����� �	� -�������!
�
�� 
�� ��%������� ��� ��'�
� dΛ

dθ = 0, 01 · Λ0� *'����� ���� ���
)"�
����

�� �� ����� �����!��������� *���� ���(��
�	�$ �����
��� ���('�������

�� ����� ���� %
�

�������� ��� �������� 
���� ����� ���('�������

�� �
�� 
�� #�� �		�� ��!
�� ��	��� �������	� 
	�����$ ���� ���	����� *��
�	$ �� ���  ���%
���		��$ ���� ���
����

�� �� ����� .������ 
� |θ| � π

4 ��� %
��������� �
������	���
�� �$ ������
���
	�� ��� /��	���� ����� ��'�
�� (���� �� #�� /��������0
��������� 1����� �
�
��� ����

�� ��� ��23���� ��	��

�� �� ����� �������(����� 4�3 �� ���� (���$
����� ������ ���� �
���	�
 �� ����� ����	�� 4�5��
�� ��� pR ∼ 1 (����� ��$ 
�
���� ����  "� ���"���� ���3� *���� pR � 1 �		�'�	��� ��� 6���%(��� 7
		 %

�'����� �������  '		� ��� ����	� �
��������� Λtot$ ��� �'��	���� ��23� 
���������
����� ��	��
����� *��

�� �� )����
�� ���		�$ 
�
� �� 
�� ������ ���� �
���!
	�
 �� ����� �
� ���(��� �
�����'���� 4�5��
�� ���� ��	� ����� ����� ���	�����
�'����
���(��� ��� Λ∞

tot/Λ0 = 1
16·√2π

� 0, 025�

�� /����#����	�� ����	8 9�� �� ��� 6����������� ������������� ����	 ��� ���
����	������ mz ����
����� %
 ������� ��� ��� ��
�����������	

����:� Aφ =
mz

r2
�

9� (���

����;� Ã = 2πi ·mz


��  �	�	���

����<�
dΛ

dθ
= 2πm2

z · p

��(��

������ Λtot = Λtr = (2πmz)
2 · p �



��� �� ����		
� �
 
��
�������
 ����������


�� ��� �� ��	�
��
�
	
 ���� ��� ���
	���� ������ ��� ��
�
 ���
��
 �
��
 
��
	�����
��� 	���� ����
 �
��	�
�� �
��
	 ����
	
 ��  
����
� �
� �
� �! "���!!
	��	�
!�� ���#�� �
������
��
	 $����
��
	 %	�
������	 �	 �
�
	 �	�
�
� &�
	�
 �� �����
��'
���
���  �����
��
	 ��� 
�	 (�	'
��
	�$���!
�
� 
�	�����
	
 �
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%	�
������	 ��
�
� �� )��� ����� *
� 
	��$�
��
	� �
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� ���� $���� ���� ��
�
�
��
� 	������ �	 ��� $�+���������
 *��� 
�	
 ��� �
�,�
 
� ����
 !��� ��
� 	���� )���
�
�
��� �
��
	
 �
����
��� ����

������ Aφ =
mz · r√
r2 + h2

3


�	
	 -�$�� ��
���
�  ����

 �
� ���� �	 
�	
� ./�
 h ��
� �
� &��$�
	
�
	
 �
0
1	�
�� "�! "�
��
 
�	
� �	�
�����
�����
	 )�!
	������ �
��
 ��
�
� ��
� ��� ����

����	�
����� �	�
� �
�
���	
�� -� ��� ��	

������ Ã = 2πi ·mz · exp (−hq)

����
 �
��
	 �
�	
  ��
�2�
����	���


����3�
dΛ

dθ
= 2πm2

z · p · exp (−4hp · |sin (θ/2)|)

�	�

����4� Λtot = (2πmz)
2 · p · F̂0 (hp)

����


����5� Λtr = (2πmz)
2 · 2p · F̂2 (hp) �

-�
 ��
�

����6� F̂n (x) :=
2

π

ˆ 1

0

tn exp (−4tx) dt√
1− t2

�
1	�
��
	 7�	����	
	 1	�
	 �! 8	��	� ���
 	��
�
 ������
��	�� 8�� ��
�
� ���
�
�
� ����
	 -
1	����	� �
�� �
�'��
 ���� ��� ��
�	
 ./�
	 h
 ��� ��
 hp � 1 ����
 ���
&�
	��
��
 ��� ��
 �	�
����
	 9�
����	���
 ��
�
� ��
 ����� !��
�	�	�
� ��
�
�	0
���!!
	�
	� ���
�	���
 ����:� �
� ���	�'
����
	 -�$��� �
������!!
	; ���� ��

��<
�
	��
��
	 9�
����	���
 ����3� �	� ����#� �
��
	 ��		 
�	�	�
� ��
����

�� ������
�
� -�$��= -
� -�$�� > �
�	
  ����
 �
��
 ?
��� !�� m‖ �
�
���	
� >
��
�
 ��
�
� �	 �
� ./�
 h ��
� �
� &��$�
	
�
	

 ��
� 	�	!
�� $�����
� �� ��
�
�

�	� ���� ��
 ���� �
�	 )���$�� �! �
	 ��	�
� α �	��� ��	��� �
�
	 ��
 +08���

'
���
�� ���
 ��
�
 8��� ��#� �� ���� ���� ��� ��� -�$��!�!
	� ��	 �
� @0+0��
	
�

������ −→m =

(
mx

my

)
= m‖ ·

(
− sinα
+cosα

)
�	� ��� ��� A
����$��
	���� �	 �����������	��
	

���3B�

(
Ar

Aφ

)
=

m‖h√
r2 + h2

3 ·
(

cos (α− φ)
sin (α− φ)

)
�

-�� 8����
�
	 ��
�
� (�!$�	
	�
	 �	� �	��
��	�
�
 ���
 ���� ���!����
 8���	0
����
�� '
�
��
�� 
�	
 �
��
�
 )����	� �
� 7��!
� ���:3�; ������
��
	 ��� ��� ��

(�!��	����	

���3#� Ar ± iAφ =
m‖h√
r2 + h2

3 · exp (±i (α− φ))



���� �������	� 
�� �
������	� 
��� 1
r ������	 ���

��� ��������	��� 
�����
� ������ �	����	��	� ����� ������ ��
�
������

Ã = 2πm‖h cos (Σ− α) ·
ˆ ∞

0

J0 (qr) · rdr√
r2 + h2

3 = 2πm‖ · cos (θ/2 + θp − α) · exp (−hq) �

�	� ��� ������	������ �����
�	���

������
dΛ

dθ
= 2πm2

‖ · p · cos2 (θ/2 + θp − α) · exp (−4hp · |sin (θ/2)|)

������ ��	�  �	�������	�������� ��� ��!�� ��� ��	���
���� "�	#��� θp = α 	�
��
���� �$�������
� �� θ = 0 ���� 
�
� ��� �	�������	 �����
�	����

������ Λtot =
(
2πm‖

)2 · p · {F̂2 (hp) +
(
F̂0 (hp)− 2F̂2 (hp)

)
· cos2 (θp − α)

}
�	�

������ Λtr =
(
2πm‖

)2 · 2p · {F̂4 (hp) +
(
F̂2 (hp)− 2F̂4 (hp)

)
· cos2 (θp − α)

}
��	��	 %�����	���
�������� %&	 ��� 
����
���	� ��� ��'&�� �	 (���� ��# ��� ��	)
���#�	�� *���
��	 ��� 
������	�� %���
���	��� #+� hp � 1 ���  �	�������	�������
��� �&����	 �����
�	���� ������ �	� ����� ��
� ���� ������ ��� ��	����	��� ,�)
������� hp- ���� *��	�'&��.����
�	��� ������ ��� ��� ������	 ����� %&���	��	� (��
��&��&'�� /�������	� %����� �&�
���� ��� "��	� '��������� 0������ ��� α ∈ [0; 2π]
������	 ��
�� ��		 +��� ����� ��������� ����� #+� ���� ���� 0����.����
�	���� ���
����
��	 #�	���&	���	 
���	��������	 %&	 hp� 1��&
� ��	� ���  ���� ���� 	�� ����
�& ��&! ��� ��%&� ���� '��'�	��������	 ��'&� 2����� ������ ��� ����3�4� 5+� ��	
�&����	 0����.����
�	��� Λtot ���� ����� 6�������	� ����	 ��� ��		 %���&��	����	)
��	�	 7�
���	������	������� #+� hp � 1 �&��� ��� ���������� 
����
���	� α ��	��
��	���	�	 0��������
8������ ��	�� �����	���	 "�
����	�#&�����&	

����9� f (r, φ) =
m‖
h

·
(
1− r√

r2 + h2

)
· cos (φ− α) �

��� ��� (���	��	��	 ����:� �	� ����;� ��#+���� ��		 Ar = 0 ���	���
� ��� /��)
�
���	��	 �����
�� �����	- �	���� ��� �	 ��	 %&����	 (���'����	 ���� ���� ��� ���
"��	� '�������� ��'&� ����! ���	�� 
	��&��&'�� 	�
�� ���� +��� ��	 ��&! %&	 r
����	����� ,&��	����� �&	���	 +���

����3� Aφ (r, φ) =
m‖
h

·
(

r2
√
r2 + h2

3 − 1

r

)
· sin (φ− α)

���
������	� ��� ������	� �	 ��� <������ �&��� ��#+�� ���� ������ �� =	�	���
��	
�
�	��� ��	�� ���� 1/r3� ��#����� �	� ��	 ������ ��	�� ��������	 "����	���� ���
��%&� ��� ��� &��	 �	������	�	 �����&�'&	�	����	 ,&��	���� ����:��


��� ��� ������ ���� #+� ��	 ��'&� ����%�	��	 "����	���� �������	� >�� ��		�
���	�& ��� ��	�� /������
� ��� 5&����	 ������ ��� ������� �	�	&���	 �����	�
����� ��	� ����
�� 0����� m‖ = mz ��� ��'&�� %&������������ ��� 0�����	� �	 ��	��
'��������	 ��'&� ����
� ���
��� 
����
���	� ����� ��	� ����	���� ���	 ���� ��� �	
��	�� '��'�	��������	� �����	 <&	��� ? �����	� ��� ��� ������	������ �����
�	���
dΛ
dθ ����������� �� ,&����������� ? �&��� #+� ��� '��������	 ��'&�� ��� "�	�+���	��
#�	������ (�� ��� �	 ��� 
������	� ��������	  ��� ��� ,��������� ������� �	���
��	 @������	�		��	 ���1�	���� ��� ��# ��	 ��	���#�	��	 0����� ��	 �������
���� ���



��� �� ������	
 �	 ��
	��
����	 ����������	

0 0.5 1 1.5 2 2.5 hp
0

0.05

0.1

0.15

Λtot/Λo

perp
0°
30°
45°
60°
90°

0 0.5 1 1.5 2 2.5 hp
0

0.025

0.05

0.075

0.1

Λtr/Λo

��������� 	
�
 ������ ����	
� ���	
����� ��	��	
 �	� � ��
���
�
�� ��	
���� � ������	������ ����
��	���� ��� ��� ������	� �	 ���
����	 ���
������	�� ����	�����	�� 
���� ����	�� !�� ���������	��
"�
������	� ������	 
��� #����� �	����
���� $�	%���	�	 ��
 &����

�����
 hp' ��� "�(�����	� ��(���� ����� )��� Λ0 = (2πmi)
2
/h ���

i = z, ‖ *� &������������ #���� �� ��� ������	+����	� #����	
��� hp = 0, 25 ��	 ,��� ��#-���� ��� ������
 	��� �� .�#������	
/�0���� ��� ��		 
���% �	���
����������	 ���	
����1���
��	����
�����' ��� 2��(
%���
 ��3	��� 
��� ��� dΛ

dθ = 0, 03 · Λ0 ���� #������
�������������� ()� )��� α = 90� ��	��
����	�� ,�	%�� ��	+��
+����	�	� �
� ������� 	���� ��(��������� �	� #)��� ���4 ��� 5�����
	�	� )�������	� ��		 ��� �	�
������	��	 ��������� %-��	 )���
��� ��
��+�	� α 
→ 180� − α 6 θ 
→ −θ �	 �7 89
 ��������� 
�������
�������� +�� 0�"��
� +� �����	 !�� 
������� :��-	����	� ��
 ,�	�
%��
 α� ��
 ���4� ��� "�
������	� ��
 +�� ���	� ���������	 �����
�
#��� 
���� ��� ;�	���� �	 ��� ��� +� ��� �����	��%����� 
������ ��
�	�� %������� ��
��()��� "�
 /�����#��� ��	�� �
������	 :������
��	� ���������� ������ ������ 
��� �	 ��	 �	���������	 ����
��	����	
(������� 	�� ��� ����� ,���< ��� ;����	����-�(� 
�	� ���
����	 #��
��� ��	�� 78��"�
������	� 



���� �������	� 
�� �
������	� 
��� 1
r ������� ���

�α = 90��� ��� ��	
 ���
��	�� 
������ �������� �	�
�������������� ��
 ���� ��
���
��
 ���
�	���� ������ 	��� ��� 

����  ��� ��	
 ����� ��
 
��	��!� �����
� 	���
	������ ���
	�����  ��
 ���� "�����
����
# ��
 θ = π ����� �
 �	��� ��� ��
����
�����	
�� 
	
 	� ��
���
 
�����$ ����� ����� ���� �����
 %��
������
 ��	
 ��

�������� ���	��� 	���
�
����� ���
�
��� ����
����� ��� hp ≤ 0, 997� 	��� ��
 

����
&
	����
�'��
������� ��� �	
	������ (����� ��$

)�
 hp � 1 ����� ��� �	�
�������������� ����
 ���������
���
 ������� ��	
�
��*����������� 	�  �� ��� ���� ��� 	��
���
������
 +�
�,
����
����
 |θ| � 1

hp $
�,�
��� ���� ���
���� ��� &
	����
�'��
�������� �	�� ��� -
�����
� .��� 	��,�
��
�� ������
�� ��� ���	��� /��
��������� ����� 	��� �
�	������ 
�
�� ����� �������
�����	���� ��
�� ��� ��	
 ���� ��
��������	
�� (���� 
�
�� Λ∞

tot/Λ0 = 1
2π $ 0���

�	
	������ (���� !�
������
� ���� �����
 ��
� ���� �� ����� )	���
 cos2 α� ��
 !��
������ %��
������
 	��,�
�$ )�
 α = 0�  �� ������ ),���� ���
� ��
 (���� �����

���� ��� ����	������� ��
	��  �,��
� ���� ����� +�
�,��� ���	���
 	�# ��� �����
���� �	�� 	��
 �	�� ���� 	��������$

-
����,������ ��� ��
 +�
�	�� ��
 ����

��
��� /��
�������� ��� ���
� �� !�
����
���1 0�� ����
 ��
����
 �� ��� !�
��
�	
�� �������������	��� 2�	���
	�� ������
�

��� ����� ��� -
����
�������� ��
 /�	��������	��� 
��,�� ��
 ��� %��������
��� )	���
 p2/2� ��
 ���� �����
� �
�����
��
�
 %���
�����
 ��
 
���
����� ����� ����
�	��� !�
������� 	�� (���������

����� �� p1/2 !�
�����
�$ (����
 �
������� ����
	��� 
	�� ���
�
�����
 �� �3$45�� ��� ��� 6�������,� ��
 7����
��	����� ���� ���	�
�
����� �����
�� 89���� ������
����� �
���
����	� �� p$

��
� ��� 	� ���� ��
����
����
 (���� �3$:;� 	�� �	� ������������� ����	�����
	���
 �����
���
����� -������ �� ��� -
	����������� ���������
������� ��� �	���
������ 	�� �������
��
 �� ���
	������ !�� �	��
 ���� 7,�
����	�	 	��� ���
 ������
(	������ ���
 ��
���
��
� ���������� ��	����
��� �� ��� ��
 ������ )	�� �	� 8

�����
�	��� 	��� ����� ����
���
�� ����� �3$34� ���$ �3$3<�$

)�
 (����� 	��
� ��� ���� ����� 	��� �������� �����
 ������� ��=����� ��� ����
	���
�1 >��
 ��� %���	�� h > 0� ��� ��� !�� ��
������ �	���� ����� ���� 7,�
���
��	�	 ��� ��� ������ 	� ��
 ���� ��� ���0
�
�����������,�
� λdB = 2π

p ��� ����	�������
&�������� ������ �	���� ����$ ���	�
� ������ h ���� ����� ���� 	��� hp � 1� ��
���
��� 8

�������  ��� ��
���� ���� 	��
����
�  ����
����� ��
 ��� ��
��������	
��
(���� ��
 ����
����� ����=���
�$ 0��� �	
	������ (���� 
��� ��� �� �	�� �����

%��
������
� ���� ���
 ���
 �����
 ��	
�� +�

��
�
��
 ��
 /��
��������# ��������
������ 	��� ���
 ��� 2
���
����	���,� �� p ���� ��
��
�����$ (��� 
��� 	��
� ���
�����	�� ������ ��
��� ����� ��
 ��
 �� +�
�,����� ��
 �������,�
� λdB ������
%���,��� h ��� (�����$ ��
� ���
�
�� hp � 1� 	��� h ��� λdB !�

������	
� �� ���
�
�	��� ��	
 	��� ��� 8��?��� 	�� ��� ��,
�� ��
 ��
����
 !�
# �����
 ��
�� 	��

��
���� �� ��� %�������
�� ��
�� ��� %���
	
��
 ���
 Λ0 ∼ 1/h �
�	��� ��� ���
����� !�� 
�
���,
��
�� 0���������� 	�� ���� 0��	�
1

@��
 !�� 6���
���� ��� !������
� �	�� 	��� ��� ��
����
 ��� )����� ������ ��� ���
��
���
� ������� ��� ��� ��
���
�
�� +����
�������	�� ���
 h ����������� ��
�$
���� 	��� ���� ��� !�
	��
������� ������ �9����!� %��������
 ��� ��
 ���0
�
����
�������,�
� ��� 6���������������� !�

������	
 ��
�� �� ����� �� ���� %��	����
��
�� 7�����
�� �� 6���
��
������ ��� ��	
� �	 ��� �������,�
� ���� 
�
�������
�	��� 	��� ���
�	��� �� ��� )���!�
������
 �������	���� !�
 	���� �� ����
����!��$



��� �� ������	
 �	 ��
	��
����	 ����������	

������� �	��
 ��
������� ��	 hp ∼ 1
 ��� ����	�� ��� �	��������������	��� �����
����	� ����������
 ��� �	� �������������	��	����	� �	��� ��� ��	��� ���� ����
��	��� ���

��	  !����	��� ��� ����"����	������
 �	�
 ���� ��������� �	���
 "!� �	���  ����
��� �� �������� �	��
 �!��� �� ��������	��� ������� ���	��� ������ ��
 ������
 !������ "!� r ��� #���!��!����	�� $�������� �	���	���
 ��� "	������
 �	 �	��� ���
�	����� ��������
 ���! 	� ����� !��� %������	��� &� '���������	�� ��� "�����	��
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�	���

������� �!��� ��	��	�����	�� ��� 23�!����	������!� 	� -.�041 �$� �	�� ������
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p3� ������"����
���	�� �!��� �� ���� �	��
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-.�7E1 p± := px ± ipy
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���� -.�.1 ������ �	� �	�� �!���� ����� ��������� ��� A�����!���

-.�9D1 p− = −i∂z & p+ = −i∂z
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)
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��!�� �
 ��� ,���� )�� -���� ����� ��� .�
�������
 ��� "�/���� cos (θ/2)0 ���
��� %����1������
���� )����
����0 �
 ����� 2�����
�����3
���/��� ����4�����0 �
�
�
�����
���� ���� ��� 2��/������
� θ = π �3
����� �
�����
����

5����� -�����/�
��
 ���� �� *�
���
�
 ���0 �6�� �������� �
 ��
 7���
����

��� )�����
 -����
���� ����
������� �����
0 ��� 
�
 �������� ���� ��
 �������� ���
����������
 �����
� 7�)�� ���� 8����� ���������0 ��� 
��� ������ ��
�������
0 ����
���� �� %���6��
���9"��� ��� ���
�� 1�����������
 (��
�����
 ����&�0 ���� ���
 ��9

� :�������3�0 ��
�� ��������
 ;������
���� ��� ��� ��� <=+ ������/����
� (�


��� ���� >����� -
��
�? ������ �����
 �3���0 ���� ��� ��� %������
������ �
��� ��
 ��9
������
 ,�3�����
 ���������
 )�
 ��� �
 ������ @������
��
� )6���� ����
�����

,����� ��
 �
��
���
 )���/����
 ������������� -������/

���&#� fB (θ) = −
√

p

2π
· cos (θ/2) · Ã (θ) �

(���� ��� *�
����
 ��� ���3�������
 "�/���� cos2 (θ/2) �
 ��
 ��A���
������

;������
���

���&<�
dΛ

dθ
=
∣∣fB (θ)

∣∣2 =
p

2π
· cos2 (θ/2) ·

∣∣∣Ã (θ)
∣∣∣2

>�
 %����� )�
 ���#&�? ��
� 
�
 ���� ��� �
�������
 ;������
���� ���#B� �
� ���#��
���� C��� �� ������
�
� 7�� ��� ��/���
���
���� ���D<� ��� �����
 7���
���� ����
�������

���&D� Λtot =
(
πR2B0

)2 · 1
8
p3R4 ·

[
1F1

(
3

2
; 2;−2p2R2

)
− 3

4
1F1

(
5

2
; 3;−2p2R2

)]
�
�

���&�� Λtr =
(
πR2B0

)2 · 3

16
p3R4 ·

[
1F1

(
5

2
; 3;−2p2R2

)
− 5

6
1F1

(
7

2
; 4;−2p2R2

)]
��
 ��/�

� ��� 8������ ����� ��
 ������
 ���� >�
 ��� ��/���
 E������? ��������9
��
� 2���/���
 �������� ;������
���� ����
���� ���D&� ���� ���DB�0 ��� ��������

���� �
����3������� ���F ��� /���
� 5���� ��� ,��������� hp � 1 ����3�� ��� &$
���� BD ,����
�G ��� ��H���� �� ���
�
���1������
��� )����
���� ���� �� ��
�
&# ,����
�� %���� ���� ��� -��� ����

-��� ��� ��
 (�
���
 �����
 ����� ��� 1����������� (��
�����
 .������
����
9
��
 ���0 ��� �
 ��� �������
 +�6!�
���
�
� �����
� %� ������ ���� ���� ���
�)������

(�
�� ����� ����<� 
������

���&$� Λtot = (2πmz)
2 · p

2
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 ��� ���� ���	 
���
� ��� ���� ������
� ���
������� �� ������������� ���
�� ! � � ��� "�������
���� ���
#�
� �������� �����
� $��� �� %�&���� �� '��� (���)����
 
����� ��
�� ��� *�� pR = 1, 005 ��� pR = 1, 272 *�� 
�����	
 ������ �+��� ��
� ������
� �������� �� � ,��� ������� -��� 
�����
����+��� �  ���� ���.�

���

���/0! Λtr = (2πmz)
2 · p

4
�

,�� ��� ��(���� ��� h > 0 �������� ��  �� ��� ���������� -��� 
������� �������

����	 $� ��� 1������� ����2! �������	 ��� 3� ��.��� F̂n (hp) 
→ F̂n (hp)− F̂n+2 (hp)
*���������� $�����	 ���  �
� �� cos2 (θ/2) ≡ 1− sin2 (θ/2) ��� ��� 3��+�������
�� ������ ���
�� ������� ��� ��� � ��� � .������ ��� (��(���������� ��(�� #� ������

���//! Λtot = (2πmz)
2 · p ·

[
F̂0 (hp)− F̂2 (hp)

]
���

���/2! Λtr = (2πmz)
2 · 2p ·

[
F̂2 (hp)− F̂4 (hp)

]
	

��� ������ ��� 
���� ���� �������������� ��(�� ����
��� 4�+��� �� ����
���5��1���
6 ���� ���7�! ��� ���77!8 ������� ������	 ���� ��� ��  �����
�� .�� ������������
'���
��� ������ �α = θp! �� ����
���� � ��

1�� ��� �������������� ��(��  ��� � ������� ��� ���
���/9!

Λtot =
(
2πm‖

)2·p·[(F̂2 (hp)− F̂4 (hp)
)
+
(
F̂0 (hp)− 3F̂2 (hp) + 2F̂4 (hp)

)
· cos2 (θp − α)

]
���
���2:!

Λtr =
(
2πm‖

)2·2p·[(F̂4 (hp)− F̂6 (hp)
)
+
(
F̂2 (hp)− 3F̂4 (hp) + 2F̂6 (hp)

)
· cos2 (θp − α)

]
�� 4
��;�������1��� ��� ���� ��� 3������  �	 ��� ��� ���������+�������� ��� �����
�� ���������$����	 ����� �� .�*��	 
��.� ���� �������  ���� ���� '��� (���)����
 
����� �� $�� ��	 ���� ��
� ����� ��� 

���2<! Λhp�1
tot =

(
2πm‖

)2 · p
8
·
(
1 + 2 cos2 (θp − α)

)
=
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��������� 	
�
 ��� ���� ���	 
���
� ��� ���� ����� �����

������������ �������� ���

������ Λhp�1
tr =

(
2πm‖

)2 · p
8

 ����!���� "�� ��� #�$�%� � ���
�� ���

���� ��& '���� ��� (���������� #�� )�������
* �� ��� +�
*����  �� � �
� ���
"��!������ #��$������ ��� ����,�%�  �"��*������	  �� -����� , "��������� ��
�
��%�%�
� ��� �����$���. ���
������	 ������������ � 
� ����� /���,��

0������ ��%% ��
� ��%����� 1����������� "��'��
���� -�����2 #� ��� )����3
���
* �� ��� +�
*����  �� ���, $���%%�%�� #�$�% ���� �, ��!�*���� ��� ��-�
��
�!%%�	 -��� ����� � ���
�� �� α = 90� ����!��	 -� ����� � 
� �, ��!�*���� � ���3
$�!�� -��	 ��� ���� �����$���. ���
����� "�� ������ �� ��� *%������	  �� �� ������
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	� �
������
	��������
�� ���

����� ���� 	�� 
���
�����������	�� ������� ������ ������� p� �� 	�� ���� ������
����� ������� ���� 	��� �����������	� ����������� �� ����������� ����  ����� ���
hp = 0, 997 ��� �� !��" #"$ %�	�� 	������ ���� ����� �����"

&�� ������� ������� �������� '��������(����������� ������ �)� hp � 1 ������
��� 	�� ���������� 	�� ������� *����������� +�)� hp 
→ ∞, ���	 -�	��� 	��������
��� ��
�� ���� ./�" �� �����������	�� 0��� +pR 
→ ∞, ���� 	��� 1 
��������� 	���
!��" #"# ��� !��" #"2 1 ���� �)� 	�� 3�������� +#"$2," 4��� �������� 5�������
��� 5������ 
������������� ������� 	�� &��������� 	�� 4������� ���� /������� ���
���)���	 ���� ���� �������� �� 6�	������ �� 
��������"

7�������������	 �
��� ���� ��� ����� 8�������� 	�� 	��� 	�9����������� 5�����
(������������ 	�� ���� �� ������ 6����:
������ �������� �
����� +#".;,� +#"<=, ��	
+#"<.,� ������������ 	��� ��� �������� 	�� ����� ����������� 3���������������√

p/2π ��������� ����� 	�� ��>�� Ã (θ)� ������ 	�� 4����������� 	�� -������ ������
��	�� 3��������� ��� ��� 5���� ������" !�� ��� ���	 ��� 	�� 5?������������� ��	 ���
	���� 	���� 	�� !�������� 	�� 5������� +#"@, ���" +#";;, ��� 3����������� exp (−iNθ/2)
��� N ��� 	�� !����� 	�� �������� 5�������� �������������� 	�� ���� �� 4�������
��� -���� 6���?�3���� ������ 	�� ������� �� !�������� 2"2 4��
����� ���	" &���
���� �)� 	�� ��������� ����� ���� ���� ��� 	�� 
����� &������ ����� +����������, ����
����������� ���� ���
������� 3���� π �������� ���� 2/� ���	 �� 	��� �����������	
2 · π"

A������� ������� 	�� A��������	��� 	�� 0������ cos (θ/2)� 	�� 	�� �)����������
�����	�)���� ��� )��� 	�� (��	�������� &��������� 	�� ���� �������	�� /�	�����
��
���" &���� 8�������� ����� 	���� �� ����� �����)�	���� B������� �� -���� ��
+�����	������, ������������ 6��������� ��� �� �� !�������� 2"$ �������	��� ���	�
��	 �� 	�� �)���������� �� ���������� �������� ��	���� 	���� 	����� C�������
�
�� ����	�
������ D���� ����� ��� ��� ���
������ 4��)����� ����� ����������	������
+2"2E,F ��������	�� ���	�" ����� 	�� 4�������� 	�� A������
� 	�� /�	������
���
���	� 	���� ��������������� 	��� �
����� ��� ��)�	�� 	�� 7�����������
����
��� 
��������� 	�� ��� ���� 	���� 4����������� ������������ 0��	�� ��������� ���"
&��� ���� �� �������� ����� ��� ����������� �� 	�� '���� ��������� ���	��� 	���
��� ��������� '�
������������� ��������� ����� ��� ������������� ���	��� ��� )���
����������� 0��	�� �� ������ ���"

/������� ������ 	�� �)���������� ���� ��� 	���� ���� ����� -� ���� &����������
����� �������	 
�����	�� ����" A����� ������� ��� ������ 8������ 	�� ������������
+����������, ������� �� ������"

:��� 	����� !�������� �� 	�� ���� 	�� ��� 	�� ������� 
�����	��� ���"
��� ��� �>������������ ������������	�� G���������� ��� 	�� ������������� ���	�
���� 	���� 	�� G��������	���%���������� ���������� �)� 	�� '��� �� 4�	�� 	��
��� ��� 
��������	��	�� :����H��� Φges = 0 �������" G�� -���� 0��	��� ������
���� 	�� )��� ����� 	���������� 
�� :��� 
�������	���� 0���� 
���)���� ��������
���� 	�� 	��� ��� ������	�� !���������" &���� ������ ��� ����� �����	��� �I�������
������������� ��� 	�� 5����� ����������� 5�������� ����	���"

���� ��� ���	���
� ���	 
	��� �
� 
��������
���������	�

!�� 	�� ������ 6���� �>���� ��� ������� 	��� 	�� ������� +�� !�������� #".
����� 	��  ��>��������� ����� ���������� �����������, 
���������� 3��������

+#"J$, Aφ =
αF

r
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 �	 ��
	��
����	 ����������	

��� ���� ��	
 ���
��� ������� 
��� ���� 
��� ��� ������ ��� ����� ����� �����
���
	����� ����������� �� ��	����  ������� �����	 ��	� ��
������ 
� ���� ����� ���
������������ !��
���� 
�� ���� 0

0 ���
��� ����� �"� r = 0� ��
 ����
��	��� ���
���� ���� ���� #�	����������� �"� Bz ��� αF �	� ����� $�% �"� 
����� &�
���� '��
��� ���(�� )����� ��	�� * ��
 
���� ���"�� ��� ��� ��	����� �	����� R > 0 �	� �����
+����������������� ���������� *� ����
�� 
�� ������� �	���

���,�� Φges = 2π · αF �

)�� ���� 
���� '��
������"��� 
�� ��������� �����
�"����� -��������� e
c ��
 �

��

���,.� Φges = Φ0 · αF

����������� 	
���� &���� ���		� ���� αF �	� 
�� !����	 �	��������� �	���/������
Φ0 = 2π�c/e = 4, 13567 · 10−15 0��� ������� 
�� 
�� &������ ��� r = 0 
����
������
* ���� &��������� 
�� ������ �	� �	������	���� �
�� ���� �	� &�	����
 ����������
)��
� ��
 
�� ���� ���
���� ���������� )��
�� ��		�

#���� 
�� -���������� 
�� �����	� ������ ��
 ���(��� ��� 
�� ������� �����
�������� )��
�� ����� ���� "���
���� 
���� )�� 1��)���������
 ����� ���� 2�)
��
���� 3�
�� ��		� ����� �� 4���
	����� 1�����)��
��
� ��	
 ���
 ��� ��� ��	����
���� 5� ����� 	���	 ���������� &�6��� "������7� ��������� ��� ����� 1�� 8�		
1�������
���� �	��� ���,�� ���� "��� ����� 
��������� �� 1

r 7��7�������	�� !����	
1���"��� 9������ )��
 ���"�	��� 1������������� 
��� 
�� ���"��	�����
�� ��	
	������
�� ���� �� ���	��%��� 
��  ��7���������� ���� �)����� $�	 ��
 
��� �� �����������
:������� 
�������%��� #�� ������� &������ )��
 �	��� )��� ���� ��� 0�����
���
1�� :��
�;����� �	� �)�� ����� ���� ���"���
 ���%� ���� ���� ����� ���� �	�
����
	��� ���% 1������������< ��� ��� 5�
����		� �	����� �	� 
�� �=7����� !��������

�� �� :�
� ������
��� 1�		��
�
���� ��	
���3��������� #�� ����
������ 0���		�
����������� ������� 
�� ���� 1��	�����
�� !�������� ��	�	��� ���� 1�� ��)�����
0��
���� ����� ���� ���
�������� ������������ ���
��� ��)���� ��� 1��	���� �	�
����� ���)��
���1����������
�� &������ ��� 
�� '��� ��� 4����������� )�������
-��3����������� 
�� �� !����	��� 
���� �����3�
�� ��		�

+� �������	���1��������� &����)���� )��
� 
�� ������� >���	�����		��� �������
�� ?���� @A.A 1�� B���� !������1 ��
 #�1�
 ���� ����������� 
�� ��� �����
�����������
�� !����� C��D ������ )������ �	� 
�� �������������  ���
	���� 5����
���
�� 2;���� �������� 
�� �7
��� ���� ����� ������� )��
�� ��		���� +��� E6����
������ ��� 
��� �"� 
�� &���6
��������		� �	�� ���� 
�� 0��)��
��� 1�� &7�������

#���� 9�����"���� 
�� ������� &7�������7������ ����� ������� �	������� !��
7��������� 
�� ���7��
��	��� 
��� 
������ -�������� �� 
�� 1���������
�� !��
��������� �� ����;��� �6���� 
�� 2��������� ��� 
�� ��	���1��������� ��		� 
�� ����
���������� )��
�� ��		� ����	�� "��������� )��
��F

4���� ���������� 
��� �"� r 
= 0 ����� Bz = 0 ���� ������ ���� ��������
 1��
 	������� ���(G�� 
�� 
�� >�������	 ���,(� ����7������
 �� >�	������
������ ����
����������� )��
� ��� E = ±p ��
 ��� ����� ��	
�3��� &������ 
�� -���������
C� := vF := e

c := 1D ���� 7�����		� #�;�������	�	�������� 
�� ��� 
�� !�����

���,G� Ψ
(m)
A (r, φ) = exp (imφ) · fm (r)

�"� 
�� ����� -��7������ 
�� '�		���������� 	����� 	6���� ���� #�� '����	�����	
��	
��� ��� ����� ��	������� ������ H��	 m ∈ Z� 
�� �
����� 2I7�������	������



���� ��� �������	
 ���� ��

� 
	� �
������
	��������
�� ���

exp (imφ)� ������� �	� 
��	��
����	�� fm (r) ����� �	�� 	� ��� ����	� �������
������ �	������	�����	����� 
��������� �	���

���� !

[
∂2
r +

1

r
∂r + p2 − (m+ α)

2

r2

]
fm (r) = 0

"�� ����� #$������ ����� %��� &�	�%	&	��� ��'��	��� (��	����
����	���� %� �������
���� ��''�� �	�� ��� �	� )�����
����	���� ������ *������ 	� +���� , ��� ����
�� ��� ������ '	� �	��' &��	�	-�' .���/� )�	 ���	���� 0������
�������� ����� ����
�	� ��
1� %� ������� )���1����� �������	���� ��-�� ��� �� �	���� .���/ �	�� ����
%� (��� 	�� ���� ���� �	���� .' ������ +��� ������ �	�� ��'�	�� 
1� n ∈ Z �����
J−n (pr) = (−1)

n · Jn (pr) �����	� ��	�� ����� �	���� ��������	�� #$���� '����
������ '�� ����� %� ��� )�����
����	���� %��	��� *������� ���� ��� 2��'����
+����	���� (�3���� ���'�� '1����� �	� 4����� 
1� r 
→ 0 %� ����� �	-���	������ ���
���� �	� �	��� �	��-�������'	������� #$���� ����&������� �	� ��	 �����	-��� �	����
���%%���	��� .��	%�� 	' 5��&���� ��
��������� ���������� �	-�����% ��� )������

����	���� ������ *������ 	�� %��� 	' 0	��� 	���� 2��'	�������	� �������� �	��
���'���� ���� �	�� �� ��'�����1��� %� ��������� ���� ��� '�����	���� +���� �	�
���� �����
1���� ���� ����
���� ��	�� 0	������	��� ��
��	�� ��� ��'	� �	� 6������

����	���� ��� ��' 5��&����� 
$�'�	�� �������������

7����	������������	�� ���� �	�� ����� ��� '�����	����� ����� ������	����
������� ��� �	�� ��� �	��� ��������� ���� �����8������� 9����	����$���� �����
��� :$��	�� 	�� ���1��	�� ���� �	�� '��� 
��'���������	����� ;������'�����	����
)���1������ ��	 ��� ��� +��� 	� �	��' -��1��������� ����	���� )���	�� R > 0
'	� ������	�<����' *���%1������� ���������� �	��� "��� �	�� ��''� �� %� �	���
=����������� ������ ���%��	�� ���

�����! fm (r) = J|m+α| (pr)

��� #$���� -�����	���
�� α -�� ��� �� ������ ��� .���/ ���� ������ ���8� ���� ��� 9/&�����! ��
�

��	��� ����� ������ .���/� �	� ����	�� 	� *��	����� ���� ! ���������� ������ �	�����
�' 
������������ 9	�� =������������ '	� ��' ������ ��%�	������� 6	���� 
�1�����
"�����	���� ��� �	� "���	������ �	��� �	&��� ������ ���� 	������� ������� ����
�	��� �	�������� �� ���'��� ��� ���� �����	�����''���	���� )�	�&	��� ���������
������ ������� 2���� �	���� ���< �����	��������	��� ������	������ =���	�
������
�/	��	��� ���� �	� �	�
�� �	�������� ���� &���	���	��� '��	-	����� *���� ��
1�� �	��
�	�� ������	�� 5��������	���� -��%����'��� �	� 	���� ���� �&����� 	� *��	�����
���>?! ��� -������� ����� �	� "�����	��� ��@ ��� ��A ���� ������ �	�� ��� ��'	�
%���''�������� ���� ����� 6��� �	��� ������� m 	� *��	����� ����A! �%�� ���� !
����� �	�� =�����	����� ��� *�$<� αF �' �	�� ���	� (��� ��'$��	��� �	���

:	� �	��' %� ����A! -$��	� �������� "����%

����>! Ψ
(m)
B (r, φ) = ±i exp (i (m+ 1)φ) · gm (r)


1� �	� ������ 7�'&������ ��� 6�����
����	��� ��� ����� ��' 9����	��=��%�	����
���� ���� ��� ��;��'�� +����� i ������� ��� 	' 9/&������� ���� �	� B�	���	���
����	�� �/&�	%	� ���1���	���	��� ����	''� �	�� ����� 
��	������	� ��� �?�CC! �	� �?�C@!

1��� gm (r) =
[
m+α
pr − ∂pr

]
fm (r) %�

���>D! gm (r) = δm · J|m+α|+δm (pr) �
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���� ��� ��� �	�
�����
� �������
�������� δm := 2ΘH (m+ α) − 1 = ±1 ������
��
�� ������� ��� ��� ��� ���������������
�� ���
�� �	 �	� 
��� �� ���� ���� ���
�������������	���	������ �� ����� 	�� 	������
����� ���
 ��� ��� !������	�� ����
��� (m+ α) �	� ���	��
� ���� ���
 �	� ����� "���� ��� δm �	�
 ���� ��� "��� +1
������� ���� ��� #��	���� �����
�������

$��� �	������������� ��	��� �������
 ��� ����������� %&�	��

'(�)*+ Ψm (r, φ) =
1√
2
·
(

exp (imφ) · J|m+α| (pr)
±iδm · exp (i (m+ 1)φ) · J|m+α|+δm (pr)

)
�	 ����� ����������m� ��� ,����
 '�	� Z+ �&���� ���� ���

�� ���� ���� $�� -
�����
�������� $�.�������������
	���� �	����� �	������� ��� %&�	���� ���� ���
� �	� �����
������� ������� �	�
 ���� %������������������

'(�)/+ Ψ(r, φ) =
∞∑

m=−∞
cm ·Ψm (r, φ) �

��� ��� ���������� ������0�� 1��2������� cm ∈ C �	� �
��� �������� �	 ������
����&���� !�� ��� �	�
�
�� ��������
� ����� ����������
 ���	����� !������	��

'(�)3+ cm := (−1)
m · (−i)

|m+α| ∀ m ∈ Z

�����
�� ,����
 ���� �����
���� 4�����5
6	� ����� ������� ��� �������
� ���� ���� �����
���	�� ��� α 	� ���� �����

6�
� μ ∈ Z� ���� α 
→ α− μ� �	7�� ����� 8
����������

'(�)(+ (−1)
μ · exp (iμφ) �

��� ���
 �	��
 ������ 9��	�������	�� ���� ��� ������ ������ 	�� ��� ����� ����

������ ����	�� �
��
�� ���
� ��� :����� ���� ���
�� �� ��� �
;��������
�� ������
������ ���
�� 
������ $��� ���� ������������ ����� ���� ���������� μ = m̃ := [αF ]
'��� ������ ���� 4�	7������� ������
��� <��� ��&7�� 4���� ���=+ ����

'(�)>+ α = αF − m̃

���� :���
�
��	�� ��� α �	� ��� ?�������� [0; 1[ ����������� �	����
6������� ����� 	�� ��� ��� ��� �����
�������� "��
�������� ����	�� ��� ������

�����.��� "�
� ��� 1��2������� �� ��;��������
�� ���
����� ��� ���
 �	� �����
"���� ���������� "������	������ '(�)/+ ���� #	�����	�� �� ���� �����	����� 	��
�� ���� ������	�� "���� ����	��
���� ��� ���� �� ����� ��� 
��� �	 ��
���������
����	����������� ������ ������ ���
 ���
� ���� �� ������ !����

'(�)@+ Ψ(r, φ) 
→ Ψ∞ (r, φ) := Ψ����� (r, φ) + Ψ����� (r, φ)

���

'(�)A+ Ψ����� (r, φ) =
1√
2
·
(

1
±1

)
· exp (−iπ |α|) · exp (−iαφ) · exp (ipr cosφ)

	��
'(�)B+

Ψ����� (r, φ) =
1√
2
·
(

1
± exp (iφ)

)
· (∓1) · exp (−i (m̃+ 1/2)φ)√−2πipr

· sin (πα)

|sin (φ/2)| ·exp (ipr)

��� ���7� r �����
$��� �� ��� �����	������ "���� '(�)A+ �
��� ���������� !������ ����� ��� α /∈ Z

��� 8
��� ���
� ��
� �����	��� �������� ���� ��� ���� 	���
&� ����
������ ���
���� 	���� ��� ���	����� #����� ���������� ����������� ���� �� ���	�
�� ��� �����
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� ��� 
������
 ������ ���������� �
 ������� 
�� 
���� �
� 	����
���� ��� �������
������ ����
��� 
����� ���
�� ��������� ����
 ��� ����
���  
!
"��
�������
 ��
� ��� φ ∈

[
π
2 ;

3π
2

]
��� #�����

�$ %�� ����
&������� ����������� �
�

�������' ������� 
�� ������
 �� (��) ���� ��
�� *�� ��
�� ����� �
��� 
�� �� +�!

���


 ����� ��
 ,������ ������ �
������-�� 
�� . ��� +���� �� (��) . �

��������
��
�
�����$ /��� �0�� �
 ������� �
 �������� ��

 ��� ��
���� 1������ ��

�� ����
2��
� ����������� ��������� �� ��� �
3�&����
���� +�
&���
�� �4$56� �
������� �����
�������� �� ��� ������������ �������
������ (�4$57� ��� �4$58� 
�� �4$59�) 
���
� �

:���� �
�$

��
 �
� ��� ������� ���� ��� +
�
&���
��� ��
� ��� ����
����� �4$5;� ����!
���-�� 
� �
� ��������� ����� ��

 ���� 
����� ��� αF = 0 ������
&� ����� �
��
������
������$ *�
��
����� �
� ��������� ��

 ��� ��� 	��� ����� <��� αF ∈ Z ��� =�


!
>
����� ��������
 
� �
� . ���� +�� ?�
�����������
��� �
� ��� ���� ��������
�
�����
������ 
��� ����$

+

 ����� @�������� ��� �4$8A� ��
 ��� ���������
��� %��
����
�� ��� 
��� ��
���� ?����
���� �

���������� ����
����� ���
� ��� �
���� ���� ������ 2�������
��
��
 +���
�������
� 
������� ��� ����
��&���
��

�4$55� f 1
r
(θ) =

−1 · exp (−i (m̃+ 1/2) θ)√
2πp

· sin (πα)

|sin (θ/2)|
��$ *
 
��� ����� ����� �
� �
��� ��� ��������� #���B �� 
������ �
�� ��� ���

���������� ��������� ������ ������ ������� ��

 ���
 *������
 ����� ����
���
�������� ���
������ 
������ ��� ���� 
�� ��� �B����
 �
�� ���� �
 ��

�� /��!
����
�� �
��� ����� ��0�
��
����� ����������� ����� +����� �4$5� ���� ���� ����
�4$8C� � ��� ��������� ������ ��

��� 
������ ��������� �� *���� ��� %�:������
����
 ����
��������
 
�� 
����� �3&�
���� 1�

������
�� ���
&�������� ��
 �
3�!
&����
��� @�������� ����� �B����� D0

�� (�4$57� ��� �4$59� 
�� �4$58�) ��� ���"�
*������
���� pr � 1 �

�������� �
���$

=�� ��� αF � ��
 ��� ���������� �� #�������� [0; 1[ ������ ������ 
���� ��

 ����
��� ��� m̃ = 0 
����� 
����� ��� ���
�������� ����
 	���� �
�� ��� ���������� E��!
&��� ��� ?����
 ����� 
���
 �
�����' ���������� �����
 �4$8F� 
�� ��� %�
�


���
�� *��� ��
 ������� +�
�������
$ %��� �
�� ���� αF �
"������ ��
 ���������
��������
 ������ ������ 
��� �

����� ��� ��� &������
���� @�������������
�� ���
sin (πα) ���� ��� ������
 ��� ���� @��
�����
�� �4$5A� �
� ��� ���
�������� �4$54��

���

 �� ��� &�3
�����
���� *����
������� ����� ���" ��
 ����������� α 
���
�� 
��!
���� �
�� ��

�� /���
���
�� �
 ����� ������
 ������������ ������������ � ������
���� +

����
�� ������$ 2�������� ���� ��
� α� ��
 ��� =�
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�� �$�$�$+$ �� ���
�� ������� ��� ��� ������$ %���� ���� �� ���
������ ������������� +�
�������� ���� E����
�� ������� ������$

+
� 	���� =��� ������ 
��� ��� ��-���������� ����
>
��
������ �


�4$8CC�
dΛ

dθ
=

1

2πp
·
[
sin (πα)

sin (θ/2)

]2
$

%�

 ���
�� ��� θ 
→ 0 ����������� �
� ���������
 ���� +�����
����
��
�������
��� G
�������������� ���� ����������� ������ 
��� ��� 
�����
 @�������� �
�� ���
��� ���

�
���� /������
�� ��� ?
��������!����

�� �� H�
����!=���� ����
 +���!
����
� ���� D�������� ��
 &
����0���� ���������� ����$



��� �� ������	
 �	 ��
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��� �����	
����� 
��������� ��
����������������� �������� 	����������� �� ���
������� ���� ���� ������ �� ������ ���� !�

����"�� Λtr =
2

p
· sin2 (πα) �

#���� $��
�%� %�� 	������ 
�� �� �% p ��� & 
��� 	�
������ ������� & �'���� ����
��(� ����)  
 �
���
%��� �������� ��� ����% ����� ����	��������� *
����+�� � ����
%
� �������� 
�!����	�� ��� �

���� ������	
�� �	� �	���
1
r 
����	�

,�� ���� ����%
�� 
�� ���	���� ������ 
�� �� ����) �������  �� �% ���!��� -��
������� ��+�� ���� ,�����+��	������ ������ �!
� ����.�  �� ������� /'������ !�%
0
%������1���
���

����".� H0 = −→σ ·
(
−i∇+

αF

r
· −→eφ
)

 
� �� 	'���� +�������  
!� �����!� 
�� ��) �% �� ����� 
�� ���% 
�
��� !�  ��
2���������� ����� �� ����"�  ����!�+����� �� #�'������������� 3��
�� ��� !�
4� ��� -�+  ���� ,���� ������ ����  
��  �� #������� 
% ���%��� ���� ��������
��� �� 5����������
�

����"6� A
(R)
φ (r) = Aφ (r)−

αF

r

%��

����"�� αF = lim
r �→∞ (r ·Aφ (r)) �

��� 7� �8 9 
�� � ���� 
�� �� ���!������!�) �%  ������� !� %
����)  
�� A
(R)
φ

������(� �� ��� �����% 9��������
����-����� !� ��+����� ���� ���� ��

 ����
� ���

�
 �
�� :�%������� Ar ������  
����� �����(� ���� 7% #�'�����
��� H
(R)
M ��� 


�� 
��  �� ����������� �� �!������ ;������
�� !� ���
�� ��) 
�������� 
�� ��
�'���� 
�
��� !�  �% +������� <2�������� ���=�> 
�+���
���

�
  �� /'������ !�% ������'���� 1���
��� ����".�) 
���  �� ,�����+��	������
<����.� %�� ����6� �� ������>) �% 3�������� !�  �� ������ ,����� �����  �� -��
�������� ��� ��� ���'���� :�%���!�������� ��� ) ����  �� ?���������  �� ���������
:����	��� �� ������ ?����-����8�%
���� ��� �� ����� +��%
� ��

� 
� ���� ,����
�����
���� �����@ ��� #�'�
����

����"A� Ψ(1) (�r) = −
¨

d2−→r ′ ·GE (−→r ,−→r ′) ·H(R)
M (−→r ′)Ψ(0) (−→r ′)

+���� 
��  �� ��� ������� 1� ����  �� /���%
���#��
������2��������) �� ��  ��
!����'����� 2�����9��	����

����"B� GE (−→r ,−→r ′) =
ˆ ∞

0

kdk

2π
·
∑
m,±

Ψm,± (−→r ) ·Ψ†
m,± (−→r ′)

E (k)− (E + i0)

��� ���� 
��� �����%����� m �� ���� ��� � C�������3��!������ !� ��%%������ ���
 �����!�������� 7� �8 
�� � 
�  �� 9��	������ ������ !��(�!���� 
�����
���� *
�
��
���� 
���  �� 5�����+����) %��  �� ��� �� ���� - D���������  ��� �� C����������
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J|m+α| (pr′) ∓iδm · exp (−iφ′) · J|m+α|+δm (pr′)

)
� )�"*#$

���
������ ��  )�"*6$ ��� ��� ��	 '�,	��
 H
(R)
M � ��� ��� ��	���� �	
0���	� ��	���

�	
��� ���� ���
��7
��� ��	 ��� '�	����
 ��	 ��

�� ��� �	
����� ��	 4�	�  )�"6$� ���
�� ��	 ���� �� �

� 8������
�� ����	�������� '�	����

� 
�	 ����� ����	� ��������
���� ��� ��� ��� ��� ���� ��� '�	�����
�����

f (R) (θ) = −i
2

√
p
2π · ∑

m,μ
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√
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2πrdr·A(R)
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i
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θ
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·Aμ
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(R)
iso (θ) =

−1 · exp (−iθ/2)√
2πp

· exp (−iπ |α|) ·
[
SAφ

(p, α, θ)− SAφ
(p,−α,−θ)
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(
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∑
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−1 · exp (−iθ/2)√
2πp
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·
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exp (−iπ |α|) ·
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(p, α, θ)− SAφ
(p,−α,−θ)
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Aμ
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)}
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���%+%� pÃ (θ) � 1

#����	��
 �)� pR � 1� ���� 	�� ��
�������	������ 6�4�3
�
�� 	�� =
�����*���
���
=(1)

0 �)� ������ �#�� ���"� 6������
� �������	�
 ��
 �)� B�
#
��� 
��� pR � 1 	��
����
� 0��
� 	�� -���������� 	����

√
pR #� ����
#��� �
��� ��#������
 R 	�� 
4�

3����� 6��	������ 	�� �
�����	�� C�
��
�
�� ��	 ����
 ����� 	�� �����
� ������ 
�
�
 �� ���+?� �� ���
��
�� ��!"� �����
 ����3��������� 
��� 	�� =!�� h 	�� ��3����
����� D�
	�

�� ��	 ��
�� 
���1������ .�
��
��� 	�� ���
	� 
����#���
�� *
�����

�������	��� ����
 ����
�� ��������

pΛi � 1 �)� pR � 1

�#�����%+?�

Λi � R �)� pR � 1 �

.��� #����
 ���
��
�� .���3��� �����
 B�
#
��� #�
� ���� ���� ����������
�
�����'���#��9 	�� -�
�������	� A �� �
�	��
 ���� ��	������ �� �����
 ���1�	��
� C��

��#�� ��� pR A ���	 
�����
��� ��� ��
	������ 5�	��� ����
 ��� 3���#�3������ 6�
 ��	
�� 	�� �
��������	�� �
��
������ ���	 #��1���
 ����
 ���
�� 
�� ��� ������
�����
.��� ��3�� ��
 	��� 5�	��� 
�	����



���� ������	
��
��� ��������	� ���
�������
��
 �
� �������
��
 ���

��� Λi ��� ����	
�� ��� ��
�����	
 ��� ������������� �����	
���� ������ 
�������
��� ��������	
������ ����  !�	���"�
�����
�#���� $ %�� &����' �� (�� ��� &(�
�	
�����
 ��� ����� ��	
 %��
������ )������(
��
�
���� �� ����������� $ ����
*���	
 ����������� ��	
 %�� ����� ��� (����� ����
������� �����	
����� +�(���	


���	
� !������

,�� 
������� �����
��
 ���� ��� ��- ��� ����.���� ��� &(�	
����� ��/ &�!���
���
 0����� (�� &�-(���
��
 ��� -��������
����� +�(���� ��- /1+ 2���
� &(�	
����
��34 ��
�(�� ��	
 
���� ������(�� 5��
����
���

6� ������ ����.��� ��� ��� 7�������� ���3/� ������ ��� �����
��
' ��� ��� ���
����� ��- ��� ��	
���� 8���� ���
�'

����33� πR2B0 · (pR)
2 � 1'

��� !��	
� ��	
 ����� ��-#��(�� ���9 ���!���� ���	
 
��#
��� ������ )���� ��� 7��
�������� pR ���� �(�� -#� 
��#
��� �	
!�	
� 5�#���' ��� ��	
 
���' �����
��( ���
��"��
��( %�� R ���.�������� ��� *�!���� ��� ����� :��� %�� πR2B0 (����
��� ;�
#(��
��� ��� 5������	
�� B0 �� ��� 86�<��
��� :���� ��������� �� �=����' ��� 
���
���� ������� >���� ��� <�������
 B0 
→ e

�
· B0 %������
���� 8� ��
�(� ��	
 (���

�.����!����' !��� ��� 
������ �� &((� ��/ ����� &((� ���� 
����
�� �����	
 ��������
��� ����� �-���� �?��� 
#���
� @�������� ���������� ����' -#� ��� (������ ��	
� 
�
�'
!��� �?.���������� ��- �� ������� @���� ������!�
� ���	
� �� ������������� 5��� ���
����� 5������	
�� %�� B0 = 20 �: ��� 5�������
' ���� R � 20 �� ���� ������ $
���� �����
��
' ��� ���	
��� �� ��-#���� ���� )���
�� ��
����� &(�	
�����
��' ���
���!���� ��- ��� ��?���� ��� :����.��������	
������ 2�� 5��� �� ����3/�4 ���� ��-
��� +����!��� ��� ������� �����	
������ 2/� 5��� �������(��4 ����
 ��
���' ���-���
-#� ��� �(��� A��
���	
�
����� ������	
 
=
��� )���� %�� ���� /BC ���

)�� ��� ��� ,�.��� ��(������' �� ��� �� ���� �=
��	
' ��� (�� �
��� ���  !�	��
��� +#���
���� ��� ������ ����D�	
�� E�
����
 �� ��-#������� �����
��
�� �����

�����
������ ,��� !�� ��� ����	
��' ��� �!�� �� ���-�	
���� (��� �����%�������
,�.��' �� �������� %����
' ��� 
���

����3�� 2πmi · p � 1

�� -������� �� !���
���	
 !���
�� �����
�� 5��� ���� ��	
 ��� +����-��� -��
� ����'
%�� ��� �������������� �����	
������ ���
�
���' �(���� -#� ��� .��.�����������
!�� ��	
 -#� ��� .��������� ,�.��� ��� h > 0 
��� -#� ��� (����� 1����
�������� *��
��	
 ��	
 ���� !������ �����
��
' ��� ��	
 $ !��������(
��
�
 $ ��� ��� ����
�����
�����	
������ ���	
���"�� F� ��	
���' �( ��� ���� ������
 ��� ������ ����.����
��� ������� ���� ��� :����.��������	
���� 
�������
� $ (�� ��� 5���������	
�����

��� �� ��� 5������ ����3/� ��� ���� GhH ����� GRH �� ����� $' ��
�(� ��	
 2, 5mi � h
(�!�

����3B� mi � h �

5#� <���������� ���.� ������#��' ����� ��
�����	
�� ������ ��	
 �� ��� +�="���
������
 ����� ��
�D�	
�� ��
������ (�!�
�'

����3I� mi ∼ 1μB = 9, 27401 · 10−24&�2 � 1, 41 · 10−15�

���� ;���	
���
 ��� 
��� ��	
� ��� ��� ��� 5����� e
�
' ������� ��	
 ��	
 ��� ���

���	
 4π ��%�������� ��
�����	
�� 5������������ μ0

4π = 10−7 ��

� �� �����.���������

��� (���
�� �����
��
 ����	
���	
 *������� *���� .������	
�� @���%���� +���	
�� 
���
��	
 -#� ��� %���
� �����
��
 ����3��' %�����
� ��	
 8��(�
� (��"' ���� p � 74 ��A



��� �� ������	
 �	 ��
	��
����	 ����������	

��������	�� �
	� ��
 �
�� ����
���	
 ������ ��	 t ≈ 3�� ��������� ���	��� ���
������
���� ���� 
����	�	� ��� ���
	���  ��� ! 
�

�� � �� ! �����"#������ $��
����
��� ���
 �����
 ��

����% &�� �� 
��� 
��

	 "'� mi = 1000 · μB ����� � �� 
����
����������� ��" ��
 (��) �������
	� ��"'��	�

*��	���� 
���������� ������� ���� ��� +������� 
�� ��� , 	��	����� ��	 �����
1
r �-�	���� .����
���
 ����	 ��
 �� ��� ���� �� �/���0� ��"
���������� ��� "'� θ 
→ 0
��
��
 ��� ���� "'� p 
→ 0� ��)����������� -�	��� �/��11� "'� ��� +	������ ��
2��


�������� 
��

	� �� �
 
��� 
�� ���
��� ��� ��
��	� �� ��� �3��	�
 4�
��	�	
������	� 5� 
�
��	�� -�	���� 
 "��� �� "'� αF /∈ Z ) ������� �
	� ��
 ��� ��

�
	�������� ��������� "'� ��� 6������� 	������
	 ��
��
������� �
	 ��
 ���������
� �� ��
 &������� ) �������� 4�
	7 	��	��� �� ��	����	 �� �������

-�	����	�) ���� ���� ���� �� 
����� ���8�

 �����
	��
 ����	 ����� 
	���
��� 9����� � ���� �� ��

��� ���� ��� 9���
7 �	:���
����		� 
�	����	��% ����
���	 )����#
���� ������ �/��;�� ��	 Λi = Λtr� ������ �
�� �� -

� /�0 ����� ���
	�� ��8�

��	������ -�<�����	��

��� ��
 ) � 2��


������� � ������	�� �������

pR � 0, 5� ����	 ��"'��	 �
	� (�		�� � �	 
	�		 ��� 	�	
������� 
���	�	�� αF �$��	�
��� ��	
7���������� �� &�����
 ���� ������	�� )��������	�� =�#<�� ����������
��"������ 
 
��� ��� +���� ���� �����
 ��
> 5� ��� 2��	 � α2

F �����	��
������	
���� ��� +	������ �� 4�
	7 	��	��� "'� αF = 0, 2 ��� αF = 0, 4 ���'���� �����
����
��� � 
�� ��� ��	�	������	� $��	 
����	
 ��
 =����� ����
���� �
	� 
 ��


αF = 0, 5 ���� � �� :����	�	�) ����	���� �� ����� =���������	 �
�� 
����	
 ����"���
��"	� 4�
��	�	� ��
����	�� �2'� αF = 0 ����
� 
��� 
��

	������ '
�����7	 �����
+	��������

*�� ��
	�� ?#��������	 " ������ ��� ��� $���� ������� �
	� ����
	 
��� ������
���� ��

 ��� ������	� �/����� ��� ��������� pAμ

α � 1 "'� α = ± [αF ] ��� ����
μ ∈ N0 ��"'���� �'

��� $�� ��� �/����� 
��� �/���@� ��	����	� ���<	 ��
� ��


�� ��� 
����� ���
7������ ��� ��� -

� /�0 �� =����� ������� ��	����� pR � 1
 ��� �
�� αF � 1 
��� ��

� *�� ������	� -

������ �
	 ��
 ���� ) � ���
��
+	���7���	 ��
� ��� ���� �� ���
��
�� *�A����������� ��� ) ����� ��	 ����

��
� �
����	�� �� �����<��� B
� �� &�� �� ��� .��)�� �
 pR � 1 "'� 
���� ,������
	��
�	�� �����
�	������ ��
 ���<	 
�
 ��" ��� ?�<
	�
� �� ,�����7 ������ ��

�����
��� �
 ��� ��
�� ��� 2��� ����
 ������������ αF 
= 0 ���� ����� �� 	��� ��� 
��
�	�� pR ∼ 0, 5 ���
�	������ C
������ ) � ��� +	������ �� 2��


������� �� &����
�� 4�
	7 	��	��� �	��
 ���	������ ���) �	��	�� �� ��

���

��������� 
 �� ���� 
�����<���� ���� � �� ���� -

���	���� ��� $����
	���
�
������� ) ���� ���� ������� ���� ����� ��� +	����� 
�����	� ��	�� ��� 
 �
��
��������	�� ����������� ��� +	#����
	�� ��� �� �����	�� �
	� ������	���� ���	 "'�
��� 
7���D
��� E��	"�������	 σ ����
 +F
	��
 �� ���� *����
� ��� �"'� ��� 2��� ������
*����
� ��� 
���� G��H�

�/��;@� σ =
e2

π�
· kF le

��	 ��� ��		����� "����� $������� le = [nimp · Λtr]
−1� ��� ��
�� ��� 9���
7 �	�

:���
����		 ���� � �� ����� ��� -���������	� nimp &���� +	����� "�
	�����	 �����
������ ���
�� ��"���
��� ��
�	�	 ��� ���	��
 ��� 2�����$���������)��	 � kF �����



���� ������	
��
��� ��������	� ���
�������
��
 �
� �������
��
 ���

��� �����	 p ��
 �����	
��		���� ����
���� 	� ��
� 	
�������
� ��� ��

� ��� ������
��	
��� ����
 	��	������ ��
���
 ����
��� ������� ��	 	�����	
��� ����
	�����	

 !"#$%& Δρimp =
π�

e2
· nimp · Λtr

p
"

'��	� �	� ���� �� �������� ��( ��� ��
� �� )���
����*�	����� ��
� +�
���������
�����
�� ��� 	���� �������� ,���(*������� ��	 
����� -���
���	" .��� ���
�	��	
�
��� +�� ��
 /
0����
����� ��
 �*		� 	�
� ,�����
� ���
�� ������ ����	 �������+�
��	
�����
��� 1
������	 +�
	������ ��	 ����(���	 +�� )�+��� 2" -��� 	����� ���
�����(���� ��� ������
� (
��� ����*��� le ��
�� ������
 	��� ���� ��	 ��� 2�
���
�������*��� λF � �� ���� ���*
�	� �3�������	
� ����������� 	�*
��
� ,�����	���

��� ��

� ��	�
����+� ����
(�
����� 	�����
� �����
 +�
��
�������" 4���
�	
�  	���
�� ����5 ���� ���� ����& ����� 	�
�� ��		 ��
 ��6����� 	�����	
�� ����
	���� 
����

7
���� ρmax = 1/σmin = 1

4RQ ≈ 6, 45 �Ω ���� ����
� ����� 8��
��� ��	 9�������
����
	�����	 RQ := 2π�

e2 = 25, 813 �Ω �	�"
����� ��� (:
 ��	 8�
�*����	 �����
� �*���
�

 !"#$;&
Δρimp

ρmax
≡ 2nimp · Λtr

p

!
= 10−3

��� -�		��
����	�
���� ��� ����� 7
����� ��  ��( ��� ������� ��
� ����� �	 ���
���� ����
 1���
�� ��( /
��� ��
 �
�����
���� +�� ����
�� 4<����� ��� ��	��	���
��
� ��
� ����� ��
 /
���	*����
����� ��	 1
�������	 ��
�� ��&� 	� �
����� ����
��		� ������� ��( ��� =��	����� ���� 2��			
����
�������� �������	� ����
 ��� ����
��
�������� 8�
��		�������� ��
 �
	��� =�
��1��
�6�������� �0
�	����
	
������
�
���
 ��
� 	��	� ���� 	��
�� -�		��
���� :��
����� ��
�� ������� �	�" ����	� ����

��� ���
(:
 ��������� =���������� �
�*�� 	�
� �*���
� ��� ��� ���� �����������
7�
�����
� B0 = 20 �� ��� R = 20 ��  ��� ����� p = 33 ��8& (:
 ��	 7�����
����  !"$>& ��� ��		�+�
 ?��
���� ��
 ��������� �
����
���� �� ��
� ��( ��� 2�*
��
�������� 1�������
��� nimp ≥ 2, 25 · 1016�−2 :��
	������ �:		��" 1�
� (:
 ����
��
� '����� ��� ��
�
 ������
�� 1�	������� �	� ��� -�		��
����	���������  !"#$;&
	
���
����� ���
(:����
� �� 	�
� ������
 	���
 nimp ≥ 1, 8 · 1025�−2 �
�*��"

4	 �:		�� ��	� ��� )�
����	 ����
� ��� ���
 	�����	
�� -������� ��
���
������� ��
���� ��� ��
���	 ��( ����� ��������� ��
���
 �� 
�����
�� ��� ��		��
@��
����
�	���� �� 
���	�
��
�� �� ��
 ,��� 	���" ��	��	����
� 
�	��
���������
��
	����	
�� -�		�����  ��- A 	
������ ��������� ��

�	
��3& �
	
������ ���
��
��������"

�� B����
	
���		� (���� ��
��	� ��		 ������	�
������ C�������������� ���
�������	
��� ��0
	������ D ��� ���	�� �0���� ��	
���		��� 2��������� ��� �����
αF = 0 +�
��	��	���� ��
���� ���� ��	 B������
�� �:
(�� ��
�� 	� ���(�
� ��

����	��
�� 	���� ��	 ��		 �	 ��������� ��	
�*�� D� ��	 ��
�� 4��E�		 ��( ���  ������
��& ,���(*������� ����
 7
��� ���������� ��	��	��� �� +�
��
��*		���� 	���� �����
��

� �����

��
���� 4<����� +�
 1���� ����	��
�� ��0
	������ ��	 ���	�
���	 ���
���� ���� +�
������
� C
*�	����� ��
 /
�����	
��
�� 	���	�� ���� ������	 	�*
��
�
F���
��� ��
�	 ����
	����	 ��
+�
��
�(�� ��
�"





������� �

��������������	� 
�������
� ��	 ��������

	
 ��
 ��� ��
�
�� �������

 ��� ���
�� ��������������� �
��
��� �����
� ���
�������� ������ ��������
 
��

������ ���
���� 
������� !�
�
�
��� �
�����
��
������ �
�� ��� ����� ������� 
� ������� ���� �
�
� ��
����  
���� ��� ����

� �
��
�� "� ������� ����
 ��� #�� ������ $� 
��� ��� 
�� ��� %
��

��� ������
�����
 
�������� ��
� #�������& ���
���� ���� 
��� �
��
�� '� ������ ������
��� ��
������ $������� ���
���� 
������ ���� ��������
 ������(

)��*���
 ����� +�� �������

 '&,� ��� ��
� ���� -���������
����� ����� .����
��� ������ /���������������0 ��� 
��������� .
���
������  �� ������ .
1��
����� ��
2�
���� ��
������
� ����� 3���������� ����� ������������� 4

�� �� ����� �����
� ���

������	 ��������� �� ���� �����
 �������
� �� ��� ����
�� 
��� ���� ������ ���
��
���
��� ����� �
���
������ 4�

�53���� ��
 �� -�
�
��
 �� ������6 ��� ������#
��5

�� ��� �� ���
�
���� 3������ +'&,70 ��� +'&,80 ����� �
����������& 	���� ������
���
�� +�� �������

 '&90 
� ��#���� .
������ ������������ 
��� 	����� �� ��5

�������������� �
�� 
��������
& � ������ ��
� ��
� �
�� ��
 ����������� %1�� h
��������� : ���� ��� .
����� ���
�� ��� ���� #�� 2�������� : ���� �*�
������
.
���;��������

� ������� ������ ������� ���� ��
 ��� ���<��� ��� �������� p ���&
��� �
�
��
��� hp ���
����� ���� ��� 
�� �� ���*�������
 #�� ������ ��� =
>����
��� ��
�����
;��������

� ��� �
�
 hp ∼ 1 ������
� �� ����& 	��� �����
�
  ��������
�
�� ��� �������������� E = p ∼ 1/h� �� ��� ?������� 	���� +#����������� .
*���0
���� 
� �@��
�#�
�� 
� ��� ����
������ ���
��� ��� 
����� ��
�����
��*������

���������� �� *���
 ��
� ��������
 ������
���
� �� ������ %1�� ���� ��� 2�
����5
������
 ���� ����& 	��� ���
 ����������� �
�� ���
��� 
���  �� ��� .���1������53
��
��� �
� 9�2& )� A���������������� ������ �*����� +�� �������

 '&"0 ��� ��
����5
������� -����������� 
���  �� ����� 3*��� ������� ���
� $�
��������� ��� �����
$��
���� �
��� �����
���
& /�� ���� ���
���
���
�� ��
�������� ��� �
�� ���
�
��
B��������

� ���
� ?����� ��� ����� �
������� 
� C��D  �� ���
����
�� 	����� +���

����� .
�����0 �� ,�2 ���*���& 	�� �� �������

 '&9 
���������� ����������  ��
��� �
���
������ 	����� �
����� 
��� ���
�� ��
 ����� �� ,�2 ����
 ���� ��
��5
�����
�� E����
������ C#��������� ������ ��� 3������ +'&FG0 ��� +'&,70 ���� ���
���
���
��
��� �� ��� ����& '&� ��� '&"D ������������ �
�
� ����������� 4����
�
�& ��
�
���� ���
��
 ��� ���������������� $��
��� �
���� �
�� �� 3
��� ����
��5
����� +����
���


������0 .
1��
����� ����� ��� �
�� #���
������ )��
��������#
5
��
�� ��� �
�����
�*��� +��������
� ���� ����� �
������ ����6 ����� �������������

��� �������

 9&"0 ����
 ���������
���
 ������ �1����� ���������� �� 3
��� �
5
���
������ .
������ ��� ��� )��
��������#
��
�� �������� ���� ������ E����
������
�����
�� 
� 
��
�� �
��� ?� �
�� 	��������� +,�2� 9�2� .���1������0 
��� ����

����&

	���� ��� -�
�
��
��� ��� 3��������
����������� +�� �������

 '&'0 �����
���
�� ��� /��  ������
��
  �� ��� �� �������

 '&� �� ������� -��
������ 
���

���



��� �� ������	
����	
�	 �
�����
�
 �
� �����
��

������� ���	��
�� ����
 ����
���� �	�� ��
�
 ���������
� �� 1
r ���������
���
 �
�

���� �������� ������� ����� ��
�
 ��
 ���� ����������
�
 ����
����� 	���
�� �����
�	���
��� �� 	��
�� ����� ���� !�
!���� "��������# �
�	���
���� ��� �	���� 	��
���
��� $���������	� ������ ��
 ���!������� %�����
� ���
� ��� ��� &'�����!��� ��
��

����
��
 (	�������
� 
������ )*& ����� ����
 +�
 �	���
��� ��,- ��
�������
�
.��� �����
 ���� ��� ���
��
 ��� �/����
��
 	���������� ��� ��
� ��
�
 0�����
���������
���� ���� �����
��� 	���	�
 ������
� �	�
�� ��� ��� ������!�
��
 ���
��
 1�������
� ��
�� ������
�������� �
�	���
����� ��� $�
��
�
����
�
 �����
�
	��	��������� )������ �
	����2��

.�� �
 $������ � �	�� ��� 3�!�������
���� ������ &��
�������� �
�����
� ���

�����
 �������
 �����
 ���� ��� ��
� ����� 3�������
� ���� 0���������
 	����!��
3�������
�� ��� ����� ��
 �
��������
��� ����������
���� 	�������	�
 �����
 !�

�
.�	�� ��� ��� !�
���4� $�
5������
 �� 	������
� ��� 	��
 �
����
 K���
!� K ′


��� �	���
��� 6�, ������������ ����� 5����� 	����!� ��� ���
��� 7����
!���� ���
��
�� ��
�������� �	�� ��
� 8
����
� ��� ����
����� ��������� +����� ���� ������
�	���
��� ��,- ����� 9
����
� �
 ��
 ���� ����	�
��
 )����:������
����
�

;
 ��
�����
 $������ < ������ ��	��� �����
� ��
 =�
����
�>������� +<�6- �

���
�� �����
��
���
 0��
 �������
�� ��
/���� +�
 �	���
��� <�?- 5�
� )@

�����

	��������� �
� �������� ��� ��� A'��
��
 	�� 3�������
 ����� ���� �
 0���� !�

�
��

1���������!�
��
� ��� ���B� �
�	���
���� ������ �
� ������
��
�������� 0������
��
 7��
�
�*��
� ����� 	����� ����
 ��� )��
�"��
�$�����
�� 
����
��� ��
�������
 ��	�
� )���

 ����� ��
� "�����/
!�
� ��� �	���
��������� !�
���
��
"���
��
��
� ���� ��

 A������� ��
���
� ���
 �	������� �����
� ��� �/����
�
���� ��� !�
����������� 0/��� ����� 
���	�� �
� ��������� ���
 ������� ����� ��
�
	�� 
�������
 C
�����
 �'���� ��������������� C
�!�����
� ��� 	����
 K���
!��
��
��
�
��� �����
�

�
� ���� �
 ������� ��
 �����
����
�����
 )��
���
!�� ���
	������ ��
���
� �����
������
 0��
 ��
���� �� ���� 	�� ��
 �����'����
 =�
����
�
>������� +<�?D- �

����
 �
 ��
 �
 ��@��!�������� =�
����� ����
�	�� $������ ��
�
�	���
���� ����� ��� 
�
 �������� C�
	������
� ��� �����
 +��@��!�������
- )��
�
�
� ���
�� 1���������!�
��
 ���� 	���/������� ������
����� &������

.�� ���� ��� ��
 ����	�
�� .�2���
�����������
� ������� >��
�
� +<�6D- �/���
���� �������
 �
 ����������
�� 0��
 �'��
� �
� ��� 	����
 A'��
���@��
 �����

�
 �	���
��� <�6 �
����	�
� C�
� ������	�
 +<�6E- ����� ���� �
 �	���
��� <�<
��� �
�����
	�� 
�� ��
 %�
�	���
��
��
 ��
�� 	����	�� ��������
��
 ������	

��� "�������� ��������
� ��� �	�� ��/��� 
��� F 	�� �
����
 "���
��
��
 F ��

�����
� ��� ��� �� ������
��
 "���
��
� +<�6G- �����
 ������
 ��� 
�� ��� �����
��
 1����
��
!���
 +<�6,- �����/������
 C
�����
 +<�< - �4��������# ����� �		� <�?�
.�� 
�
 ��������
 3�������	�
��
 �
� ������� 	���
���
 ���������
��
 ����
�	��
��
 ���
�
 A�
����������� +<��<- ������
 ��� �����	�
� �
��������
��� C
�����
�
��
 �
 H��
��
�=����C2�!�� �����
� !'

��
 �	�� 
'������������ 
�� ���������

����������
 ���
� �����
 ��� ���� ��������� 	�� !���
�
 0�����
 ���
��
���� �
 C��
�����
�
�� �� ��� H=C ���	��� 	���
�� ����� ���
� 3������� ��
 ��������� ��� ��


�������
�� ��
���� ��� ������'��
 ���������� &�� ��'B�� �����
��
 0���� ��
����

�����
 ��� ���������
��
� ��� ����� ��
 C�
���� ��� )��
�"��
�$�����
��
 	��
��
�� ��
�� 
���� 
�� ������� ������
 !���
��� ��
���
 ���� �	������ �
� ���� 	��

���
��� �'����
 0�����/�!�
 +�	�� ?I *����� ����� �		� <��- ������� ������ ��
�
7�
��
�� ��� �
�����
 ��

 5����� �����
 ��� ��
 7��
�
�C2�!� �����!�������




�� ��������	�����
� 
�������
� ��
 �������� ���

���� ������	 
�����	 ���
 ��� �����
���	�	 �	�����	��	 �
 ��
��	�������������
����� �	� ���	�	 ����������	�	 ����
��� �����	� �	� ���
 ��	 ���
���� 
�� �����
�� ����!��� �������� ���
�� "��
���	 ������ ��	���� ���	�

����
 ��� #�����
��	� �����
�� ��	����!���� �	�����	���� ��� $��
���%����� ���
��� ��� �	�������	� ��� ����
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�������� �����	� ����� ! �	�� ���	��	
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��� "2��������� lB =���� ��� ����
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�������� ������ 4 ��� "�
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 5���
���������������� ,����� 6��708(

1

2
η − ∂η

)
Dp (η) = Dp+1 (η),�&90 (

1

2
η + ∂η

)
Dp (η) = p ·Dp−1 (η),�&.0

'�� :#�
���
�� 1
2η + ∂η =: a ��� 1

2η − ∂η = a+ �;���� ������� �� ��������
�� ,.&<- 0 ��� �����
�#�
���
�� ��������� ��
���� ������ ��� ��
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���� %�� Dp
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�� ������ ��� >����� ����� Bz = −B �� ��� �����������

��������
������ ��� �� ,-&9/0 ��� ,-&9?0 ��� �
������� B 
→ −B %�
�����
���
��� ����� ,-&9@0 ��� ���

,�&-0 η :=
√
2B ·

(
y +

K

B

)
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����� �� ��������& '�  ���� ��
��� ���
��
�� ��� "�
������� %�� A0 ���
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�
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���� ������������� ��� ��������� �
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,-&9.0 ��� ,-&9-0 ���
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���� %�� ,-&./0 ��� ,-&.?0 ���� ,-&-90 ��� ,-&-.0
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�������&

�� ,-&.30 ��� 1
2η ��
�� − 1

2η �� �
������� ���� a → −a+ ��� a+ → −a ��
�
��� �

��
��� ����� ��� )#��������� ↑ ��� ↓ ��� ��� ���
����� ν̃... ��
 >��
�$ ��
%�
��������& ��������� �
���� ����� ���� ��� 1�������� ,-&.B0 ���
��
  !
 ΨA↓ (η)
�����  !
 ΨB↑ (η) ����& >�� ��� �� ��� )#������$ ��� ���C������� ����������� ��*
������  !
 ΨB↑ (η) = ν̃↓− ·Dp (η) ��� ΨB↑ (η) = ν̃↓− ·D−(p+1) (−iη) �
���� ����

,�&<0 Ψ
(reell)′

SOAS−B (η) =

⎛⎜⎜⎜⎝
Dp+1 (η)

ν̃↓− ·Dp (η)
−i(ν↓−p−1)

Λ ·Dp (η)
−i(ν↓−p−1)p

Λν̃↑−
·Dp−1 (η)

⎞⎟⎟⎟⎠
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�	��� �	
�	�

���

����� Ψ
(imag)′

SOAS−B (η) =

⎛⎜⎜⎜⎝
−i (p+ 1) ·D−(p+2) (−iη)

ν̃↓− ·D−(p+1) (−iη)
−i(ν↓−p−1)

Λ ·D−(p+1) (−iη)
(ν↓−p−1)

Λν̃↑−
·D−p (−iη)
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����� Ψ
(reell−alt)
SOAS+B (η) =

⎛⎜⎜⎜⎝
p ·Dp−1 (−η)
ν̃↑− ·Dp (−η)

−i(ν↑−p)
Λ ·Dp (−η)

−i(ν↑−p)
Λν̃↓−

·Dp+1 (−η)

⎞⎟⎟⎟⎠
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� ���!�� ��"� Bz = −B� ����� ������ $��� ����� ����

���3� = Ψ
(reell−alt)
SOAS−B (η) =

⎛⎜⎜⎜⎝
−Dp+1 (−η)

ν̃↓− ·Dp (−η)
−i(ν↓−p−1)

Λ ·Dp (−η)
i(ν↓−p−1)p

Λν̃↑−
·Dp−1 (−η)
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���2� Ψ
(reell;λ=0)
SOAS+B,↑ (η) =

⎛⎜⎜⎝
−p ·Dp−1 (η)
ν̃↑− ·Dp (η)

0
0
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(imag;λ=0)
SOAS+B,↑ (η) =

⎛⎜⎜⎝
−i ·D−p (−iη)

ν̃↑− ·D−(p+1) (−iη)
0
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(reell;λ=0)
SOAS+B,↓ (η) =

⎛⎜⎜⎝
0
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ν̃↓− ·Dp (η)
−Dp+1 (η)
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���11� Ψ
(imag;λ=0)
SOAS+B,↓ (η) =

⎛⎜⎜⎝
0
0

ν̃↓− ·D−(p+1) (−iη)
i (p+ 1) ·D−(p+2) (−iη)
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���1.� Ψ
(reell)
N+B,↑ (η) =

⎛⎜⎜⎝
−ν̃0 ·Dν0−1 (η)

Dν0
(η)

0
0
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���1-� Ψ
(imag)
N+B,↑ (η) =

⎛⎜⎜⎝
D−ν0 (−iη)

iν̃0 ·D−(ν0+1) (−iη)
0
0
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������ Ψ
(reell−alt)
N+B,↑ (η) =

⎛⎜⎜⎝
ν̃0 ·Dν0−1 (−η)

Dν0 (−η)
0
0
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������ Ψ
(reell)
N−B,↑ (η) =

⎛⎜⎜⎝
Dν0

(η)
ν̃0 ·Dν0−1 (η)

0
0
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������ Ψ
(imag)
N−B,↑ (η) =

⎛⎜⎜⎝
−iν̃0 ·D−(ν0+1) (−iη)

D−ν0
(−iη)
0
0

⎞⎟⎟⎠
��
�

������ Ψ
(reell−alt)
N−B,↑ (η) =

⎛⎜⎜⎝
Dν0

(−η)
−ν̃0 ·Dν0−1 (−η)

0
0
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��$)��6 
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	� ���� ����� �����$)��� 	��6 $)� �	� ��!��	�����
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p = p± = ν−1

2
±
√

1

4
+ (Λν̃−)

2 ≡ 1

2B
·
[
(E − V0)

2 −Δ2 −B ±
√
B2 + λ2 (E − V0 −Δ)

2

]
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ΩSOAS+B (y) =

⎛⎜⎜⎜⎜⎝
−p+ ·Dp+−1 (η) −p− ·Dp−−1 (η)

ν̃− ·Dp+ (η) ν̃− ·Dp− (η)
−i(ν−p+)

Λ ·Dp+ (η)
−i(ν−p−)

Λ ·Dp− (η)
i(ν−p+)

Λν̃−
·Dp++1 (η)

i(ν−p−)
Λν̃−

·Dp−+1 (η)

...

−i ·D−p+ (−iη) −i ·D−p− (−iη)
ν̃− ·D−(p++1) (−iη) ν̃− ·D−(p−+1) (−iη)

−i(ν−p+)
Λ ·D−(p++1) (−iη)

−i(ν−p−)
Λ ·D−(p−+1) (−iη)

(ν−p+)(p++1)
Λν̃−

·D−(p++2) (−iη)
(ν−p−)(p−+1)

Λν̃−
·D−(p−+2) (−iη)
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ΩSOAS−B (y) =

⎛⎜⎜⎜⎜⎝
Dp++1 (η) Dp−+1 (η)

ν̃− ·Dp+ (η) ν̃− ·Dp− (η)
−i(ν−p+−1)

Λ ·Dp+ (η)
−i(ν−p−−1)

Λ ·Dp− (η)
−i(ν−p+−1)p+

Λν̃−
·Dp+−1 (η)

−i(ν−p−−1)p−

Λν̃−
·Dp−−1 (η)

...

−i (p+ + 1) ·D−(p++2) (−iη) −i (p− + 1) ·D−(p−+2) (−iη)
ν̃− ·D−(p++1) (−iη) ν̃− ·D−(p−+1) (−iη)

−i(ν−p+−1)
Λ ·D−(p++1) (−iη)

−i(ν−p−−1)
Λ ·D−(p−+1) (−iη)

(ν−p+−1)
Λν̃−

·D−p+ (−iη)
(ν−p−−1)

Λν̃−
·D−p− (−iη)
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������ η =
√

2 · |Bz| ·
(
y − y0i −

Bz

B2
z

· (kx −A0)

)
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ΩSOAS (y) =
1

2
·

⎛⎜⎜⎝
exp (−iθ+) exp (iθ+) exp (−iθ−) exp (iθ−)

w+ w+ w− w−
−iw+ −iw+ iw− iw−

−i exp (iθ+) −i exp (−iθ+) i exp (iθ−) i exp (−iθ−)

⎞⎟⎟⎠·Dθ (y)

�	� ��� &�
'�(
��

����)� Nα (y) =
exp (iqy,αy)√
wα · sin θα

	� ��� *	����������	+

����,� Dθ (y) :=

⎛⎜⎜⎝
N+ (+y)

N+ (−y)
N− (+y)

N− (−y)

⎞⎟⎟⎠ �



��� �� �����	��
�� ������

�� �������	�	�
� ���
	
	�

������ ΩN (y) =
1√
2
·

⎛⎜⎜⎝
exp (−iφ) exp (iφ) 0 0
1 1 0 0
0 0 1 1
0 0 exp (iφ) exp (−iφ)

⎞⎟⎟⎠ · Dφ (y)√
sinφ

���

������ Dφ (y) :=

⎛⎜⎜⎝
exp (ikyy)

exp (−ikyy)
exp (ikyy)

exp (−ikyy)
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	 #���	 �	��	$	�� ����������	
��
 ������������ ��� ������������ % #�	
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���
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���
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��
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� ���	�� �	��
��
� ���� 	����	�	�,
�	�� ��	 !��
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��	
�, ��� �	�2�, ���� ��
� ��	 #	��	� ��(�� 6	��
�	�� ���
���� ���	� ���	��
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�	� &7�����������) α ���� �� (�	� !	��
��	�	�	� 8�
����
	� �	��	��	�	
	��

����� ��	 "�	�
�	 �� 	��	� ���� ��� 	��	�� �	� �	��	� 5��	�!���	 � ���, ��	 ��
� �9�
α = ±1 	�
	�	�, �� ���� �	� :������ ��� �	� (�
	�;��
	� α, (�����	�� ��
� 
	�9-

	��	� "������
��	�	, ���� ���
� !	��;�
�	� �9��	� ��� ��
� ��� �	� ���	�	 ������
�
�� �	� /01/-'	�	�
� ���	�� ���(���	��	� !	��;
	�� 5��	� ��	 <	�	��� ���	�	 7���-
�������� ���
��	�� ����, ��	��� �9� 	��	� 
��(	� "�	�
�	�	�	�
� ��� 	��	 �	������	
7����������� 9���
, ��	 ���	����
�, ��	 �	�	��� ��	� 	�� ��	��, ��
�� �����
	�	�� (�
!	���	�	� ���, ���� 	� ��
� �� 	��	 �	��
	�	
�	 "����	����
 �	� /���� ����	�� �9��	,
����	�� �	��
��
� �� 	��	 �	������	 .�	���
	���
 �	� �	��	� !������	�	� ����
�	�����	��	�� =;
��
��	��	��

"�� .�	������ �� 	��	� > 
	�9
	�� ��	��	� > /01/-'	�	�
� ���� �	��
��
� ����
�� <	�	� ����	 !	�	��	��, �	�� ��	 "�	�
�	 �	� �	��	$	��	� 6	��
�	�(������	� !��
�	��	� 5��	�!���	� �*�+3� ������� ����� ��	� ��� ���	����
� ��� �;
��
� ���	� �	�
'	���
��
 Δ > λ/2? ���� ���
���	2	� ��	 5��	�!���	 	�����	� ��� 
	�	�����	�
��	
��	�� ��	�(	 V0 +Δ� ��� 	�
	� 
	(�
	�	 5��	�!��� 
	�� ���	� !�� V0 + λ −Δ
��� V0 +Δ, ��	��� ���� ��� �	��	� '�	��	 2Δ− λ 
	��� <	�	 "�	�
�	�9
�	 ���	�	 1�-
�
����� ���� ���, ���	����� �	�	�, !�� �
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��
	�	�	�, �	��	 1����	����
 �	�� 	����
	� ����� ��	 ��	�� 
	
	�� ���
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��
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�	�� E = V0 +Δ �	���� ���� v
�F,α = 0 �9� �	��	 α = ±1� ��� ���	� ���9���
� ��� 	��
��	�(���� ��(��	�	�, �	� �9� <	�	� �	��	��
	 λ �9���
�	�� �	���(��

���� ������	��
� �	 ��
������ ���
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	�
�	�	�, ��
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��	
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� �9� �	� '	�	�
� y > L ��	 #	��	��������� �	� ������!	�
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�	��	��	, (�	
�� @��!	�
	�( ���� ���B�� (�����	� ��� ���	� /���-�-7����	�,
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(
D0e

−iθ+ −D1w+

)
Q+

(
D0e

iθ+ −D1w+

) (
D0e

−iθ− −D1w−
)

Q−
(
D0e

iθ− −D1w−
)

Q+

(
D0e

−iθ+ +D1w+

) (
D0e

iθ+ +D1w+

)
Q−
(
D0e

−iθ− +D1w−
) (

D0e
iθ− +D1w−

)(
D1e

iθ+ −D0w+

)
Q+

(
D1e

−iθ+ −D0w+

) (
−D1e

iθ− +D0w−
)

Q−
(
−D1e

−iθ− +D0w−
)

Q+

(
−D1e

iθ+ −D0w+

) (
−D1e

−iθ+ −D0w+

)
Q−
(
D1e

iθ− +D0w−
) (

D1e
−iθ− +D0w−

)
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�������� �� 	�� �����
�����
������� E (kx) �� �
������� ���� ���� !�
�
�
�"��	�� ����� ���	 ��� #
������� 	�
 $%���	�
 ��&������ �� 	�
 �"����� ��	
!��
��� $���� 	�� �����
�
���	�� ������!�� '�
�� −ηgr �� ������� "�� 	�

�
(��
��
��
������ &������
� ����
�� "�
	�� ���� D0 := Dν0

(−ηgr) ��	 D1 :=
ν̃0 ·Dν0−1 (−ηgr)� )��� *�
+
&��
������� 	�
 ,����*����'�
����"�
&��� 
�	����
�
��
� 	�� *�	�����������
���� �� 	�� ����
�������

����-� det

( (
D0e

−iθ −D1

)
Q0

(
D0e

iθ −D1

)
Q0

(
D0e

−iθ +D1

) (
D0e

iθ +D1

) )
= 0 �

��� *��
�
����� 	�
 .
���"�
�� kx ∝ ηgr 
→ ±∞ ��� ��
�� ���� ��� �
�� ,��
���� ���
 / ��	 �"�
 	�
 0�� �
����� �����
  +
 	�� ��������� 1��� / "���������
����	����� "�
	��� ��

� #�23��� 	�
 ����
������������
���� ����-� ��
����4�(
Q2

0D0D1 +D1D0

)
·eiθ−

(
Q2

0D1D0 +D0D1

)
·e−iθ+

(
Q2

0 − 1
)
·
(
D0D0 −D1D1

)
= 0

�
&���� ���� 	��� 	�� $%���	�
 ��&������ ����� ��� $"���
�5
�	�&�� ��� #
������
��� ����������������� 6�
���
���� �� �
����� ����� !�
�
�"��	�� 	�� 5
�	�&�� ���
����
��� ��	�
��� ���� D0D0 ��	 D1D1 "�� 1/ηgr7 	�� �����
���� 5
�	�&�� ������
���� 8� ��
�	�� "��
��
 .
��� ��� ���
�
���� "�
	� ���"�	�
 "�� 1/η2gr �	�
 ���

��� ����� ����� ����� &���������� 	�� ���9� !�� ηgr �����:������ '�
�;

���<=� limD0D1
ηgr �→+∞

= limD1D0
ηgr �→−∞

=

√
2πν0

Γ (1− ν0)

����� ��
� 	����
 !�
�
�"��	��� 	�� .���
���� ����4� ���� �	�����
� �
 +��� "�
	�
���� ν0 = N ∈ N0 ����7 	��� �
���� ��
�	� 	�� 0��
���� 	�
 >��	���?�!�����
���� �� 	�� #�9����
��
���� "� 	�� $%���	�
 ��&������ ��	 ν0 ��� 	�
�� ��	��
������ �� �
����� ��� V0 = A0 = Δ = 07 ���� #�"��
���� &3���� ����� ���� ��
� 	�

$������@�
� A����� �<��B �C ��"�
&��� 	�
 8�	�
� !�
��
��:����� "�
	�� 5
�&���
�
"�
	�� 	�� >��	���?�!���� �<��<� �
��� �� |kx · lB | � 1 + ν0 �

��
���

1+
 	�� ������
������� 1��� � ��� �������� �� ��
+
&��
������� 	��� 	�
 D�������
D1/D0 �� �<�-�� ��
�  +
 ���	� .
���+��
�:��� kx ∝ ηgr 
→ ±∞ !3���� !�
�
���	��
!�
�:��; 1+
 ηgr 
→ +∞ ���� �
 �����:���� !�� ν0 ����
 ����� ?���� ��	���
��������� 0��
���� �3���
� ���	� 0� ���� ��
 ���� #
� E���������	������ 2qy,0L+
θ = πk ��� ����
 ������ $��� k ∈ Z �
 +��� ����7 ��  +�
��	�
 )
	���� ����
���� E2 ∼ k2x +��
����������� #�	�
�
����� ���� D1/D0  +
 ηgr 
→ −∞ ��
 	���
����� ?���� "��� "��	�
 ν0 = N ∈ N0 ���� ��� ���
���� 	��� ��� ���
�
:�&��

0��
��� �<��<� ��	 �����
���� ��
� ����� "�
����	�� kx 	�� .
39�� qy,0 ��	 θ

��� ������:
 "�
	���

��
 �%����
��
�� 1��� �F��G��
����� ���� ���� ���
 ����������
 ��� �� H�����
���� �����	��� "�
	��� ��	 �"�
 ���� �
�� ��� 	��� 	�� ��������
�� 1��	��:
&� ��
��
+��
��� !�� ����
��� *��
��� �� ���� ���� ���	�
� �� ������
�� *�
��
� / ��� ������
�����������
 5����� / !�� ���������
 ,�:
&� BM =: βB ���� &���� "�� 	�

� �����



��� �� ����	
�	��� �	
�	�

��������������� 	
���
 β �
�
��� ��
��� ��
�� ������ ��� �
�� �
� �����
�������
�

������ Ax (y) = −B ·

⎧⎨⎩
y + (1 + β)L ��
 y < −L
−βy ” y ∈ [−L; +L]
y − (1 + β)L ” y > +L

�� �������� ��� 
� ���������������� ��� ��� ���� !���
"�# �� ��� !�$����
��%
&"�� �����
 ��� 	��������� ����'� ��� ����(� ��� ��� !
 ����� η = η+B :=√
2B ·

(
y − yi − kx

B

)
) ����� ��
 y < −L ��� *����
��� y1 = − (1 + β)L +�� ����'�,)

��
 y > +L "�� � �� y3 = +(1 + β)L +�� ����(�, �� �-"��� ���) ��� �� ������
��
.�
��&" ��� /��
 	��������� ��
 0
�
�1 ΩSOAS−B (y)) ���"� 2���&"�� ���(3�) ���

��� !
 ����� η = η−βB :=
√
2βB ·

(
y − A0−kx

βB

)
� !�� 
��� ��
 /�
�&"����� ��

%

��� 0
 ��������
 ���� 
� ��� ������ .�
��&"� 
����� ��� ��
�� /��
 /�
�&"������
��
�� ��
 η 
�����
���
��"
����) ��� �� ��� ����� ���������� �� �� ��� �"��) ���
��

 ηB,±L := −

√
2B ·
(
kx

B ± βL
)
��� ηβ,±L := η−βB (y = ±L)� 0�� ��� !���
���%

 �� DT
0 := Dν0

(−ηB,−L) ��� DT
1 := ν̃0 ·Dν0−1 (−ηB,−L) ����� D

T

0 := Dν0 (ηB,+L)

��� D
T

1 := ν̃0 · Dν0−1 (ηB,+L) �
 ��� ��&" ��� 4����
���� E (kx) �� 5
����� 
��
��� ����
 4���
���
���� ���&"�� #

det

⎛⎜⎜⎜⎝
ν̃−DT

1 ·Dp+ (ηβ,−L)−DT
0 ·Dp++1 (ηβ,−L) ...

p+DT
1 ·Dp+−1 (ηβ,−L)− ν̃−DT

0 ·Dp+ (ηβ,−L) ...

ν̃−D
T

1 ·Dp+ (ηβ,+L) +D
T

0 ·Dp++1 (ηβ,+L) ...

p+D
T

1 ·Dp+−1 (ηβ,+L) + ν̃−D
T

0 ·Dp+ (ηβ,+L) ...

����(�

ν̃−DT
1 ·D−(p++1) (−iηβ,−L) + i (p+ + 1)DT

0 ·D−(p++2) (−iηβ,−L) ...
DT

1 ·D−p+ (−iηβ,−L) + iν̃−DT
0 ·D−(p++1) (−iηβ,−L) ...

ν̃−D
T

1 ·D−(p++1) (−iηβ,+L)− i (p+ + 1)D
T

0 ·D−(p++2) (−iηβ,+L) ...

D
T

1 ·D−p+ (−iηβ,+L)− iν̃−D
T

0 ·D−(p++1) (−iηβ,+L) ...

⎞⎟⎟⎟⎠ = 0

4�
 6��
��&"���&"���� "
���
 ��
��� ��� ������ ��� /��
�� ��
��� ��&"� 
�� ��&"
��%
���� 2��
� ��� �� 2���&"�� ���(3� ������ ���� "��
 ���� ��&" ��� 7
������ p+ 
→ p−

/�
 ������� ��
����
8����
 �&"���� ��� .�
�&"��� �� 0
�"��
��&
 ���
���� 9� ������
� ��&"�  
��

���
�����
���&" �� ����) 
�� �� ��� ��� �"
�
 :���� ��&" �
 ������� 8;��� �� ��
 E
��� <�
 ��-
���� ��
 2
;$���
���� 10−2 ��� ���"
���� ���) ��
 ����
 �"=���
���&"��
2
����
 � ���
�
������ >���-���� /��������� �����"
�� 4��"
�� ��
� /�� ��
 ��
>��
����"
� ��� ��� 2���&"�� �� ����� ��� ���9� 
� ��������� 0; ��&"���� 2�%
�

�&"  ��
&"�) ��� �� �
 ��� ��&" ��
��������

det

⎛⎜⎜⎜⎝
ν̃−DT

1 ·Dp+ (ηβ,−L)−DT
0 ·Dp++1 (ηβ,−L) ...

(ν − p+ − 1)
[
p+DT

1 ·Dp+−1 (ηβ,−L)− ν̃−DT
0 ·Dp+ (ηβ,−L)

]
...

ν̃−D
T

1 ·Dp+ (ηβ,+L) +D
T

0 ·Dp++1 (ηβ,+L) ...

(ν − p+ − 1)
[
p+D

T

1 ·Dp+−1 (ηβ,+L) + ν̃−D
T

0 ·Dp+ (ηβ,+L)
]

...

ν̃−DT
1 ·Dp+ (−ηβ,−L) +DT

0 ·Dp++1 (−ηβ,−L) ...
(p+ + 1− ν)

[
p+DT

1 ·Dp+−1 (−ηβ,−L) + ν̃−DT
0 ·Dp+ (−ηβ,−L)

]
...

ν̃−D
T

1 ·Dp+ (−ηβ,+L)−D
T

0 ·Dp++1 (−ηβ,+L) ...

(p+ + 1− ν)
[
p+D

T

1 ·Dp+−1 (−ηβ,+L)− ν̃−D
T

0 ·Dp+ (−ηβ,+L)
]

...

⎞⎟⎟⎟⎠ = 0 �



���� �����	
���� 	
 ��
������ ��� ���

���������	 	���
 ��� ���
 �����
	 �������
�

 ��� ����
����� Dp (±η) ��� �����
�������� ����� ����
 ���� ������ ���������� �����������
 	���		 	��� ��������
�
���������������� !�����	 ��	 ��
����
� �������
 ��� �� ��� "��	
�������� ��� ���
����	���� #������		� 	���	
���	
������� ����
 ��
���$��%�� ������ ��� ��	���� ��	
��� "�
��	�
��� ��
������
 ������&

"�� ���������� '�
����� ���� ����
 �� ��� ���	�� (��� ���� ��� )�*������

��� ��� ����������� "�	*��	���	����
��� ��� ��� 	*����	�� ���� +��, ����	� 	�����
������
 ��� �� ��� ������ � ��� ��
 �� ��� 	��� ���	�	 -��.�	 ����
 �� ��������
������

 ��	 ���� ���� �
��	 ���	��
 	� ���� ��������
 �������		�� �����
�
 ����
���& "��� ���� /�����	���
����� ��	 0*��	 ��� 	����� (���	����������� 	���� ���
β = 1 ��� ���� ���� ��� #����������� ����� �������	���� 1��������� ����

�2&33 (

D2
ν0

(−η−)− ν0D
2
ν0−1 (−η−) Dν0

(−η−)Dν0
(η−) + ν0Dν0−1 (−η−)Dν0−1 (η−)

Dν0 (−η+)Dν0 (η+) + ν0Dν0−1 (−η+)Dν0−1 (η+) D2
ν0

(−η+)− ν0D
2
ν0−1 (−η+)

)
��	 ��� ��� /�	
������ ��� E (kx) ��%�������� '�
���
 ����� "�
�������
� ��
���

���� ������ �� ���	�������� ��
& 4������ ���� ��� /���������� η± :=
√
2B·
(
L± kx

B

)
1���������5 ��%����� �	
 �2&67 	
�

 �2&62 �����$�		��&

���� ���	
��
�

 �� �����
��� ���

�� 8������������
�� ���
�
 ��� #���
���	�����
��� �9&:; ��� ����
<

Ar 
→ Ar +
∂f

∂r
�2&39 

Aφ 
→ Aφ +
1

r
· ∂f
∂φ

�2&3= 

"������ ������ 	��� �� ��	����� �9&:9 ��� >�	�
�
���

ΔÃ =

¨
rdrdφ · exp (−iqr · sin (φ− Σ)) ·

[(
∂f

∂r

)
· cos (φ− Σ)

]
− ...

−
¨

drdφ · exp (−iqr · sin (φ− Σ)) ·
[(

∂f

∂φ

)
· sin (φ− Σ)

]
=

ˆ 2π

0

[r · f (r, φ) · exp (−iqr · sin (φ− Σ))]
∞
0 · cos (φ− Σ) dφ− ...

−
ˆ ∞

0

[f (r, φ) · exp (−iqr · sin (φ− Σ)) · sin (φ− Σ)]
2π
0 dr


��� ��
�� ��� ����������� /���������� �9&3? ��� �9&36 ���� ����
�	�� ���	������
��

 ��� ��� ���� ��� ���� ��

��	 *��
������ ��
����
��� ������������� @�����
������ 	������� ������

 ��� ����� 	��� ��� �������������
 ��	� ���� �� ��
������
������ A���� �����	��
�� ��������&

���� �� ���
�	�	���� -�������
�� ���� ��� /����	 �� ���� ��������� ��
 ������

������&

@�
�� ���������� �������� 1����		�
������
 ������� #�����
�����
 ��	 (���
���	

�2&32 f (r, φ) · g (r, φ) ·Aφ (r, φ) = f (r, φ+ 2π) · g (r, φ+ 2π) ·Aφ (r, φ+ 2π)

	���� 1��	�������� ��� ������ B�������
�

�2&37 lim
r �→0,∞

(r · f (r, φ) · g (r, φ) ·Ar (r, φ)) = 0



��� �� �����	��
�� ������

����� ���� �	�
	�� 
���ˆ ∞

r=0

ˆ 2π

φ=0

rdrdφ · f (r, φ) ·
(
∇−→
A (r, φ) +

−→
A (r, φ)∇

)
· g (r, φ) =������

ˆ ∞

r=0

ˆ 2π

φ=0

rdrdφ · −→A (r, φ) · (f (r, φ)∇g (r, φ)− g (r, φ)∇f (r, φ))


���� ��	�	 ��������
 ���
 ����	� ��� 
	� ��
�����
	� �� � ������� !�"�  	�#��
��

���� ������	��
� �	 ��
������ ���

$� 
	�����	� ��
 
	� �������
	�
	� � ������� �	�
	� 
	� %��	�	� $��	
���	

	� &��� 1

2π ·
´ 2π
0

sinn (θ/2) · exp (−4x · sin (θ/2)) · dθ  	�#��
�� �	���	 '	�����	��

	� (� ��������� sin (θ/2) = t �� �!�!�� ) 	�
	�	�� (�	 ����	� ���� ���	���� ) 	�
�*�	�
	��	������	 &��+����	� ���
�)�+	�, �)� 
�	 ��	
��
��	� �
	��
	�� $�
��	��

�	 ��	� 
	�)
	�� ���

F̂0 (x) = 1F2

(
1

2
;
1

2
, 1; 4x2

)
− 8

π
x · 1F2

(
1;

3

2
,
3

2
; 4x2

)
����-�

F̂2 (x) =
1

2
· 1F2

(
3

2
;
1

2
, 2; 4x2

)
− 16

3π
x · 1F2

(
2;

3

2
,
5

2
; 4x2

)
���!.�

F̂4 (x) =
3

8
· 1F2

(
5

2
;
1

2
, 3; 4x2

)
− 64

15π
x · 1F2

(
3;

3

2
,
7

2
; 4x2

)
���!/�

F̂6 (x) =
5

16
· 1F2

(
7

2
;
1

2
, 4; 4x2

)
− 128

35π
x · 1F2

(
4;

3

2
,
9

2
; 4x2

)
����!0�

�� ���
 � 	� ���� ��
	�	 �����	����
	� �#
����� ��� 1	����	� ) 	� 
�	 ��
�2��	��	�
1	��	�3 ��
 (���'	���+����	�

I0 (4x)− L0 (4x) = F̂0 (x)���!��

I1 (4x)− L1 (4x) = 4x ·
{
F̂0 (x)− F̂2 (x)

}
���!!�

I2 (4x)− L2 (4x) =
(4x)

2

3
·
{
F̂0 (x)− 2F̂2 (x) + F̂4 (x)

}
���!"�

	���

���� ������	��
� �	 ��
������ ���

$� 
��� �������	� 4	��	 ��	 
�	 (��	���
 �� 	���	� 1���35��	���
 �)� 	��3  ���
��	���
�
	� 6����	�  	�	��� �� 
	� � �������	� !�/ ��
 !��  	������	� ���
	� �����
���� (	� �
	 ��� 7	�
�	��������
��
 ���� �)� 
	� (���#
��
	�3&���  	���
	��� 5���
����)����
 
	� 8	�	���3(� ��������� �0��.� ��
 ��� 
	� 9�	����� −→p = −i∇ �)�

	� $����� 	����
� 
�	 :	��	
��
 
	� ;�������39�	������

���!�� HS =
1

2m∗ · −→p 2


	��< �!�/� ��

���!=� H0 =
−1

2m∗ · ∇2

��


���!�� HM =
−i

2m∗ ·
(
∇−→
A +

−→
A∇
)
�



���� �����	
���� 	
 ��
������ ��� ���

��� ��
−→
A ����	�
���
�� ��	�� ���� ���� ��� �����
�� �	���� ��� ����	� �����	

��	
�������� ��	���� ��� ���
 ��� ���������	�
�	�� �����
�� ���
 ��� �����  ������

��
�	 �
��� !
�
����"

#� ��
 �� ����

��� ���� �� !�
	$�����	�%��� ��� &��������'
��� '��� !����	
��
	 ��
( �
�

 �)")� ������	�� ���� ������
 ��� ��������� &����� Ψ(0) = exp (i−→p −→r )
��� ��� ��'���
�� #�����$������ �� �*")+� ��
 ��	 #��	��� �)"*+�" ,�� ���������
�	���� '��� ���
 ��� ,�������� ��� ���	�
�	� (H0 + E) ��� ��� ,���	��' �)"-.�
��
������� ��� ��	 ������������	��� ������ ���'�	 !��
� ����
�� ��� ��� !
	�������
��	��
��
 ���
 ���

�*")/� Ψ(1) (�r) = −
¨

d2−→r ′ ·GE (−→r −−→r ′) ·HM (−→r ′)Ψ(0) (−→r ′) "

0�� ��� ��� %�'
�	 2m∗� ��	 ���
 
��
�	
�	 �����	 
�	���'1	�
� ��
 ��� �	����
%��'
��� ��
 �)"--� ���" �)"-2� ����
���
� ��� ���
 ����	 ��	
������ 3�
��	�
����
��� ��	 ��� �	�
�� ���� �� �*")4� ��
	�5
� ��	� ��� !
	�������
��� ��

�*"6.� fB (θ) = −
√

p

2π
· (

−→p ′ +−→p ) · −→Aq

2p
"

7���
��	 �	'���
 ��� ��	��
�  �
�
� ���� ���
 ��� �����	 ��	�
 ��� 8	� �'
��� ��	
%��	��	��	�����	���	
��

−→
Aq ��� ��� 9��

��� ��	 &��'��
�����	����� Σ �� ,��"

)"-� ������� ��
" :�

��� ������
�	 0����
����� �1	 ��� 3������

�*"6-� −→p = p ·
(

cos θp
sin θp

)
& −→p ′ = p ·

(
cos θp′

sin θp′

)
�

��� ��	 ������
�� ,�������� �
�� &��
�	�� ��
������ ��	��� '$����� ����� ���
��'���
�� ,���
����

��	���� �1	 ��� &��'�����'
����� ����


�*"6;� (−→p ′ +−→p ) · −→Aq = 2p · cos (θ/2) · Ã (θ)

��� ����
 �1	 ��� !
	�������
��� �����	 ��� ��	��
� �� <���

�=
 ��� �����
���
�)"+-� ���������� %�	�"

���� ������	��
� �	 ��
������ ���

3� ������ �	�>������� ,���
��

 ���� ��	�����
 ��	���� ��� ��� �	����%��'
���
�)"-.*� �������	
�� ��
� ��� ���	� ��	 �����	�� ?��	���

���
'��
 
����	� ���>�
�

�1	 ��� !�
	$�����	�%���"

,���	� ��� �� <���

�=
 ����
����	
� ���$
��
 �����	 �� �����	 0�	��
���� ��	
����� ��	 ������ #��	����@�	����
�� A �� ��� 
��	 ��� ����
���� ����
�� ����	 �����
����
�� :���� m∗ > 0 ��
��	��

" ?��	 ��� !�
	�������� |m∗| ��	�� ���	 ��� ����	�
:$����
'��
 �� &��
�	�� ��	��
� ��	�����
����� ��	1�'���

��
"

�� ��� &��������'
����� 
��	��� ��
1	���
 ��	 ��� ���	�� B�������
�� ����
���	 �
�� ��� ��	���	������'
�	 1/

√
2� ��� �)"/-� ������	��� ��	�

�*"62�

GE (−→r ,−→r ′) = 2 |m∗| ·
ˆ ∞

0

kdk

2π
·
∑
m

exp (im (φ− φ′)) · J|m+α| (kr) · J|m+α| (kr′)

k2 − (p+ i0)
2 "

��� C���� �������� �� #��� ��	 0�	��
���� ����� %�'
�	 exp (ipr) �� �	
��
���
��� �	 ��	 ���
	��
��� ���� ������������ &���� �
�
� ��'���
� ��
 �� ����
��� ���
����� ��	 ������ 
��	 ���
	�
����� 0��������'
����� J ���>D

�*"6)� Jη (kr) =
1

2

(
<(1)

η (kr) + <(2)
η (kr)

)



��� �� �����	��
�� ������

�� ��������� 	�
� 
�� ���
�� 
������ ����������������� �(1,2) �������� �����
r > r′ 
����� ���� ����� ���� ��� �� ��������� ���  ����������� !�����"�������
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